000DDDDDOODD EEEEEEEEEEEEEEE BBBBBBBBBBABA uuu uuu 6G66G6666G6GE
o0DDDODDDDDD EEEEEEEEEEEEEEE BBBBBBBABAABE iy yuu GGGGGGGGGGGH
000ODDODODDDD EEEEEEEEEEEEEEE BBBBBBBBBABBS Uuu Iy deddddddddds
00D DDD EEE 888 888 UUU UUU GGG

00D DDD EEE 888 BBB UUU UUU GGG

00D DDD EEE 888 888 UUU UUU GGG

00D DDD EEE 888 8BB ULUU UUU GGG

00D DOD EEE 888 888 ULUU UUU GGG

00D DDD EEE 888 888 ULV UUU GGG

00D DOD EEEEEEEEEEEE 888888888888 Uuu UUU GGG

00D DOD EEEEEEEEEEEE 888888888888 VY UUU GGG

00D DOD EEEEEEEEEEEE 888888888888 Uuy UUU GGG

00D DDD EEE 888 BB8 UUU UUW G6GG  GGGGGGGG6
00D DDD EEE 888 888 UUU UUWU GGG  GGGGGGGGE
00D DDD EEE 888 BBB UUU UUWU GGG  GGGGGGGG6
00D DDD EEE 888 BB8 UuU UUU GGG GGG
00D DDD EEE 888 BBB UUU UUU GGG GGG
00D DDD EEE 888 BBB UUU UUU GGG 666
o0ODDDDODDDDD EEEEEEEEEEEEEEE BBBBBBBBBBAAB VVUVVTVNVVVVVVIE GGGGGGG6GE
0DDDDDDODDDODD EEEEEEEEEEEEEEE BBBBBBBBBAES UUuUUUUUYUULYU GGGGGGOG6
ooDDDDDDDODD tECEEEEEEEEEEEE BBBBBBBBBBBA VYTV GGGGGG6G6
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GGGOGGGG EEEEEEEEEE TTTTITITITT MM MM EEEEEEEEEE MM MM 000000 RRRRRRRR LA/ LAl
GGGGGGGG EEEEEEEEEE TTITTITITIT MM MM EEEEEEEEEE MM MM 000000 RRRRRRRR YY YY

GG EE 11 MMMM  MMMM  EE MMMM  MMMM 00 00 RR RR YY Yy

GG EE 17 MMMM  MMMM  EE MMMM  MMMM 00 00 RR RR YY Yy

66 EE 171 MM MM MM EE MM MM MM 00 00 RR RR YY vy

66 EE 11 MM MM MM EE MM MM MM 00 00 RR RR Yy vy

66 EEEEEEEE 17 MM MM EEEEEEEE MM MM 00 00 RRRRRRRR A

GG EEEEEEEE 1T MM MM EEEEEEEE MM MM 00 00 RRRRRRRR Yy

GG GGGGGG EE 17 MM MM EE MM MM 00 00 RR RR YY

GG GGGGGG EE 17 MM MM EE MM MM 00 00 RR RR Yy

GG GG EE 17 MM MM EE MM MM 00 00 RR RR YY

GG GG EE 17 MM MM EE MM MM 00 00 RR RR YY
GGGGG6 EEEEEEEEEE 17 MM MM EEEEEEEEEE MM MM 000000 RR RR YY
ddddde EEEEEEEEEE 11 MM MM EEEEEEEEEE MM MM 000000 RR RR YY

LL 111111 $55S555SS

LL 111111 $55555SS

LL Il SS

L 11 $S

L 11 $S

LL I SS

L Il $5558S

LL 11 $585555

L 11 SS

LL 11 SS

L 11 SS

LL 11 SS

LLLLLLLLLL 111111 $S$S5S8SS

LLLLLLLLLL 111111 $555555S
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GE TMEMORY 16-Sep=-1984 02:47:25 VAX=11 Bliss=32 v&.0-742 Page
v04-000 14-Sep=-1984 13:18:01 (DEBUG.SRCIGETMEMORY.B3?2; 1 ’
: ) 0001 O MODULE GETMEMORY C(IDENT = *'v04-000') =
; 2 000§ 0
: 3 0005 1 BEGIN
: 4 0004 1
: ) W R R I T I I IIIMmMmMmMmm I ImMmMIMIIMmMTTMTIITTTTYT ™
: 6 0006 1 !+ .
: 7 0007 1 !+ COPYRIGHT (c¢) 1978, 1980, 1982, 1984 BY J
. 8 0008 1 !+ DIGITAL EQUIPMENT CORPORATION, MAYNARD, MASSACHUSETTS. ’
: 18 88?8 } ;- ALL RIGHTS RESERVED. ]
M 1. [ ]
: 11 0011 1 !+ THIS SOFTWARE ]S FURNISHED UNDER A LICENSE AND MAY BE USED AND COPIED
: 1% 001% 1 !+ ONLY IN ACCORDANCE WITH THE TERMS OF SUCH LICENSE AND WITH THE .
: 1 001 1 i INCLUSION OF THE ABOVE COPYRIGHT NOTICE. THIS SOFTWARE OR ANY OTHER ¢
: 16 0014 1 !+ COPJES THEREOF MAY NOT BE PROVIDED OR OTHERWISE MADE AVAILABLE TO ANY
: 15 0015 1 !+ OTHER PERSON. NO TITLE TO AND OWNERSHIP OF THE SOFTWARE IS MHEREBY ¢
: }9 88}9 } ;' TRANSFERRED. .
: lw L
: 18 0018 1 !+ THE INFORMATION IN THIS SOFTWARE IS SUBJECT TO CHANGE WITHOUT NOTICE )
: 19 0019 1 !+ AND SHOULD NOT BE CONSTRUED AS A COMMITMENT BY DIGITAL EQUIPMENT
: g? 885? } ;' CORPORATION. *
: le )
: 22 0022 1 !+ DIGITAL ASSUMES NO RESPONSIBILITY FOR THE USE OR RELIABILITY OF [TS
: 23 0023 1 '+« SOFTWARE ON EQUIPMENT WHICH IS NOT SUPPLIED BY DIGITAL. .
: 26 0026 1 !» v
: 25 0025 1 !« *
bt 26 0026 1 !'t'tt't't'ttt...t'ltttttt't.t".""""t'""ti"ttt"tt't'tt"t.!t't".t.t
: 27 0027 1!
: 28 0028 1 ! WRITTEN BY
: 29 0029 1! Bert Beander August, 1980.
: 30 0030 1!
: N 0031 1 ! MODULE FUNCTION
. 32 0032 1! This module contains the Debug?er‘s Free Memory Manager, i.e. all the
. 33 0033 1! routines which initialize the free memory pool and allocate and dealloc-
. 34 0034 1! ate memory blocks. These memory blocks are used for RST entries, Static
R %2 88%2 } : Address Table entries, and most other descriptors used in the Debugger.
: 37 0037 1 ! MODIFIED 8Y .
: 38 0038 1 ! Ping Sager May, 1982 Add PUSH and POP routines to manage
: 319 0039 1 ! releasing the tempory memory blocks
. &0 0040 1! ) in levels.
: 6 0041 1 Rich Title May, 1982 Added DBGSNPARSE ALLOCATE and
;42 0042 1! DBGSNEXECUTE _ALLOCATE to support the
;43 0043 1! ALLOCATE command.
: 44 0046 1!
: 45 0045 1
Y 0046 | REQUIRE 'SRC$:DBGPROLOG.REQ’;
: 47 0180 1
: «8 0181 1 FORWARD ROUTINE ) )
; 49 018% | DBGSCHECK MEMORY: NOVALUE, i Check the integrity of the memory pool
. S0 0183 1 DBGSCOPY_MEMORY, ! Make a copy of a memory block in a
.0Nn 0184 ! permanent block .
: 52 0185 1 DBGSCOPY_TEMPMEM, ! Make a copy of a memory block in a
R 53 0186 1 ! tengorary block
; 54 0187 1 DBGSEXPAND MEMORY, ! Expand the free memory pool
.55 0188 1 DBGSFREE MEM LEFT, ' Compute amount of free memory lett
. 56 0189 1 DBGSGE T_MEMORY, ' Get a memory block
.97 0190 1 DBGSGE T_TEMPMEN, ' Get a temporary memory block

¢ B Vs WL AL A A.B.G.a a @aa.
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GE TMEMORY 16=%ep=1984 OS 47: 6 AX=11 Bliss=32 VL.O-TLS
v04-000 14=Sep=1984 18: DEBUG.SRCJGETMEMORY.B3Z; !
: S8 0191 1 DBGSINIT MEMORY: NOVALUE, ! Initialize the free memory pool

. S9 019; 1 DBGSNPARSE ALLOCATE ! Parse the ALLOCATE command

D60 0193 1 DBGSNEXECUTE ALLOCATE, i Execute the ALLOCATE command

;6 0194 1 DBGSPARSE _ALCOCATE, ' Parse the ALLOCATE command for the

. 6 0195 1 ' old Languages

;6 0196 1 DBGSPOP_TEMPMEM: NOVALUE, ! Pop the pointer to the temporary memory

; 64 0197 1 ! on the stack, and release that

: 65 0198 1 ' temporary memory blocks

: 66 0199 1 DBGSPUSH_TEMPMEM, ' Push the pointer to the temporary memory

. 67 0200 1 ! on the stack

: 68 0201 1 DBGSREL _MEMORY: NOVALUE, ! Release a memory block

: 69 0202 1 DBGSREL _TEMPMEM: NOVALUE ; ' Release all temporary memory blocks

Page
9 (1)
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GE TMEMOR Y -809-1984 05:67:85 AX=11 Bliss=-32 v6.0-74
v04-000 -Sep=-1084 12:18:01 DEBUG.SRCIGE TMEMORY . B32; 1
0203 1 EXTERNAL RQUTINE

: 0206 1 DBGSNMAKE ARG_VECT, ! Construct an error message vector
: 0205 1 DBGSNMATCR, ' Match a character string
: 0206 1 DBGSNSAVE DECIMAL INTEGER, ! Parse a decimal integer _
. 13 8%8; } DBGSRST_REMOVE : NOVALUE: ' Remove the RST for a specitied module
.17 0209 1 EXTERNAL
: 78 0210 1 DBGSGV_CONTROL: DBGSCONTROL FLAGS, ! DEBUG control bits
.79 0211 1 LRUMSLISTHEAD: REF LRUMSENTRY, ' Pointer to List head for LRUM (Least
. 80 021§ 1 ! . Recently Used Module) Linked list
; gl 8%}‘ } RSTSREF _LIST: REF VECTOR[,LONG]); ' Pointer to RST Reference List
. 8 0215 1

B4 0216 1 OwN
. 85 0217 1 DBGSFREE _LIST: REF FMEMSBLOCK ! Pointer to the free-list List head

86 0218 1 INITIALCO), ! _
. 87 0219 1 DBGSTEMP_MEMORY: INITIAL(0), ! Pointer to the singly Linked list of
. 88 0220 1 ! ""temporary ' memory blocks
: gg 8%%% } DBGSTEMPMEM_POOLID: INITIAL(O), t Index to t:e temporary memory pool
: ! stac
N 0223 1 DBGSTEMPMEM_POOLSTK: VECTOR[25], ! Temporary memory pool stack for push
.92 0226 1 ! and pop operations
. 93 0225 1 FMEM_BLOCK_LIST: INITIAL(O); ! Poinrer to a singly Linked Llist of
. 9% 0226 1 ! memory pool areas.
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GE TMEMORY 16=Sep=-1984 03:67:85 AX=11 Bliss-32 v‘.O-?LS Page
v04-000 14-Sep=-1984 12:18:01 DEBUG.SRCIGE TMEMORY .B3Z;: 1
g? 9LOBAL ROUTINE DBGSCHECK_MEMORY: NOVALUE =

! FUNCTION

This routine checks the Debugger's memory pool for integrity. A com-
plete scan is made over the entire memory pool to check that every free
and allocated block has the proper format. A second complete scan is
made over the entire memory pool free-list to verify that ever¥ free
block has the proper format and that the List is intact. A third com-
plete scan is made over the '‘temporary block'' Llist, and each such block
is checked for validity and consistencr. [t any error is detected in
any of these scans, an error is signalled (Internal Memory Error) which
prints the address of the bad memory block. If the memory pool is found
to be correct, the routine returns normally,

INPUTS
NONE

OUTPUTS
NONE

BEGIN

LOCAL
AREAPTR: REF VECTORL,LONG],
BACKPTR: REF FHEHSB%OCK.
BLKADDR: REF VECTOR[,LONG],

! Pointer to current memory pool area

! Pointer to previous free-list block

! Pointer to 'temporary'' memory block
BLKPTR: REF FMEMSBLOCK, . Pointer to the current memory block
FREECOUNTI, ! Number of free blocks in nenor{'pool
FREECOUNT?, ! Number of free blocks on free-list
LISTHEAD _FOUND, ! Flag indicating free-list list head

! . node has been found

NEXTBLK: REF FMEM$BLOCK, : Pointer to next sequential memory blk
TEMPBLK: REF FMEMSBLOCK; ! Pointer to ''temporary’’ block header

LR RN NFE PR TR FIE N TN P T TN PN KN I R TR TR P A Y I T T YR Y-Sy Sy YRy YRR S SR arar S TN IR W

! Loop over all the memory pool areas. These areas are Linked together in a
; singly linked, zero-terminated list. C(heck each such area for integrity.

LISTHEAD FOUND = FALSE;

FREECOUNTY = 0;

AREAPTR = _FMEM BLOCK LIST:

WHILE .AREAPTR Rea 0 Do
BEGIN

! Loop over all the memory blocks in this area, C(Preck each such block
; for consistency.

BLKPTR = AREAPTR[2):
IF NOT .BLKPTRCFMEM$V PREVALLOC] THEN
UHngeé?hKP'R LSSU AREAPTR(=-1] ¢

SlGNAS(DBG‘_lNTHEHERR,?..BLKPYR);
.AREAPTR(1) DO

[eleleleleleleolelalalelalelalelelealalelololeleleleoleloleoleolelaleleleleleleolalelslolslelelelalealeololeloaloleolaoleleole]
N N N N N N e N e N T N N N N N N N N L N N N N e T e e N e N e e e N N e e e e e e e e e e
OO OBCD ~d ~N N NNNNNNNFOO OO OO OO O VIVUAWIA NN B B I B B 8 I~ B~ £ B NI R W AN PO
WP =2 OO NN IR =2 OO NOWE NN =2 OOV N NS AN =2 O OO0 NN ) = O L 0D ~NO NN =2 OO0 00~

— e vl e ) il e D sl il D D i el sl et T ol i D D el o il D D il i el D e ) D il el el il D el D el D D sl e e D el el e ol e e
8~ B 8 B S\ s s s AN N SN ANOTONOPLNI N NI NI NI NI AR PO RN PPN AUNOINININ) b wad cid o o i o o ol e o o ol ol ol o o e D o i

WAL S B BB ES B BB BB AN A N NN N AN NN DD RINI NI RO NINININ) =2 b ed e el el e e ek b YOO OO OO OO0
N =2 O OQBWNO N W)= OO NO NS WN OOV NO NS NN =2 O OVP® NIV AN =2 OO0~ NI WINY - OO 00

[P E T ETEETE FETETE YR XE FE T I I I IS IR S

! Check the block's sentinel value. ALlso get the address of the
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s next sequential block in the memory area.
%LEﬁBLKPTR[FHEH$B_SENIlNEL] NEQ FMEMSK_SENTINEL
SIGNAL (DBGS_INTMEMERR, 1, .BLKPTR);

NEXTBLK = .BLKPTR ¢ &+ BLXPTRUFMEMSV_LENGTH],

(=
o0

' 1f this is an allocated block, make sure it is marked as allocated
at both ends.

iF .BLKPTRCFMEMSV_THISALLOC]
THEN
BEGIN
It NoT .NEXTBLKLFMEMSY_PREVALLOC]
5 SIGNAL(DBGS_INTHEMERR, 1, .BLKPTR);

Bs 0 0e 8¢ 0sPs Vo Qe TeRe B0 B Bee

! It this is a free block, check that the block lLength and the
' allocation bits are conststent at both ends.

ELSE
BEGIN
% E'.“MEXTBLK[FHEHN. PREVLEN] NEQ .BLKPTRLFMEMSV_LENGTH]
SIGNAL (DBGS_INTMEMERR, 1, .BLKPTR);

; Give special treatment to the free-lList List head block.

i;ENaprra EQL .DBGSFREE_LIST
BEGIN
%55307 .NEXTBLK[FMEMSV_PREVALLOC]
SIGNAL (DBGS_INTMEMERR, 1, .BLKPTR);

LISTHEAD FOUND THEN SIGNAL (DBGS_INTMEMERR, 1, .BLKPTR);
™ HEAD_FOURD = TRUE:

LA FENE R NETE FELE TR FE N TR FI FI FI N P NI T FI TS T Y

IF
LIS
END
; This is » free block but not the free-list list head.

ELSE
6
13

L2 T

N
COUNTY = .FREECOUNTY + 1:
E“uixraL:[rnensv PREVALLoci

b SIGNAL (DBGS_INTMEMERR, 1, .BLKPTR);

-—f e D

€
R
F
H

e B s B e BV Be Ve 0. e e BB e w,

END:;
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WA LA LAl LA LAl L Lt L L L U N A U N L U A U U L L U L Ul L U U U U U A AN A A AN U U U U P O RO AU RO AU U NV AU AU RO NONOND
B M N AN NN N AN AN AN PO RO RONURIRNININ) ~t ad e ed el el e e ed b OO O OO OO OO O VYV VOOV OO OO OO
OQOO®WNO NI NN 2O OW®WNO NS NN =2 OOV NO NI WA = O O 00 NN £ i = O O 0D N NV i) =2 O O 00~ N 8~
BB NWNOOOO-OVOOOO OO OO0 O OO VWAV S VWAVIRAVIVAVIAVAD BN S IS S N0 0
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e

; Go to the next sequential block in the memory area and loop.

BLKPTR = .NEXTBLK:
END;

' Check the validity of the terminator block at the end of the current
: memory pool area.
%LEﬁBLKPTR NEQ AREAPTR[=1] + .AREAPTR(1)
SIGNAL (DBGS_INTMEMERR, 1, .BLKPTR);
IF (.BLKPTRLFMEMSB_SENTINEL] NEQ FMEMSK_SENTINEL) OR
(NOT .BLKPTRLFMEMSY THISALLOC]) OR
(.BLKPTRCFMEMSY _LENGTH] NEQ 1)
THEN
10 oBLKP‘R):

SIGNAL (DBGS_INTMEMERR,

®s We %o woe B News W,

S we

% The whole area look good. Link to the next memory pool area and loop.

AREAPTR = .AREAPTR(0];
END;

; Make sure the free~list List head was found in the memory pool.
IF NOT LISTHEAD _FOUND THEN SIGNAL(DBGS_INTMEMERR, 1, .DBGSFREE_LIST);

! Now make a complete scan over the neaor‘ pool free-list. Check each block
: on the Llist for consistency and check the integrity of the List itself.

rnsecouurz =

BACKPTR = .oacirn

BLKPTR = .DBGSFREE

WHILE .BLKPTR NEQ
BEGIN

 aE akak ek ¥ AV [PV IV [P TP [P T IO [T WY, ST N T N1 NT ST U N LT, R g g D i g

EE _LIST;
CISTCFMEMSL FLINKD:
assra St 00

OO N NN = O O 00 NO I R =2 OO 00 NN B LN — O O 00 N O N IS i) —

; Make sure the top end of the free block is valid.
1¢ (.BLKPIR FMEMSB_SENTINEL) NEQ FMEMSK_SENTINEL) OR

( BLKPTRLFMEMSV_THISALLOC)) OR
THEN (.BLKPTRUFMEMSL “BLINK] NEQ .BACKPTR)

SIGNAL (DBGS_INTMEMERR, 1, .BLKPTR);

. Make sure that the bottom end of the block is valid and consistent
! with the top end.

NEXYBLK = BtKPTR ¢ Lo BLKPTRCFMEMSY LENGTN):

OO0 OO0V OB OOWEWOOOD NN NN NNNNNNOOCOOOCOOOOO-NNNANNNANNNEL S

1F (. NEXTBLK[FMEMSB_ SENTlNEL] NEQ FMEMSK_SENTINEL) OR
( NEXTBLKLFMEMSY™ PREVALLO(]) OR

LSO L T AL N N AT ST N NI N N NI NSNS LN RN LN N S N s S VTN SN NT VT NT.NT,NT,N 1, T VT .NT, N1, N1, S T.NT ST N T,.NY, VY N1 N1, N1, €T ST . NT. N1, T ¥
O NS WA = OOVRNOWVEWN =2 OOV NO NS WN—=2OO N WV WA OO0 N WV EIANN = OO0 NN r0 — O
lelalelelalelalalelalelelalelalalolealelelalelalelolelelolelelelalelelelolalelelalelaleololaolololelaleleololeleolelels]
A L L A A A L A U A L L Ll U A Ul L L o A N U A U W Ll L L A U Ll G L L U A (U A A L U U U U A O U AN N N AN N N NN
AN AR N A A LA B LA AN U AN PO PRI NI RN U R AU U I P AU AU AL WA A AN £ W U UGN LU AN N NN B O~ O o~

[ P T P E Y EPEFETETE TR A T R N I P SN P A A T PRI WAL LN I R N R S I R S I T T T

[o e No Yo Yo Yo Yo JVIVAVIV AV IV IV IV IV IV V¥ oW 0¥ o
NO NS AN =2 OO ~NO NS ) —
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{.NEXTBLKLFMEMSL_PREVLEN] NEQ .BLKPTRLFMEMSY_LENGTHI)
SIGNAL (DBGS_INTMEMERR, 1, .BLKPTR);

THE

E This block Looks good. Link to the next block on the List and loop.

FREECOUNT2 = .FREECOUNT2 ¢ 1;
BACKPTR = .BLKPIR;
EhSPTR = .BLKPTRCFMEMSL_FLINK);

! We are back at the free-list List head. Make sure its backward link
! points to the Last block we inspected. Also make sure that the number
! of free blocks came out the same in the memory-area and free-lList scans.

IF (.BLKPTRCFMEMSL BLINK) NEQ ,BACKPTR) OR
1HE&.rnsecou~t1 NEQ .FREECOUNT?)

SIGNAL (DBGS_INTMEMERR, 1, .BLKPTR);

! Check the consistenc{ of the '‘temporary'’ memory block chain, Loog through
! the DBGSTEMP_MEMORY List (which is singly Llinked) and check each block.
: - 9

BLKADDR = ,DBGSTEMP_MEMORY;
WHILE .BLKADDR NEQ 0 DO
BEGIN
TEMPBLK = BLKADDR[13];
BLKPTR = BLKADDR[-1];

; Make sure the temporary block header lLooks correct.

IF (. TEMPBLK[FMEMSB SENTINEL) NEQ FMEMSK_TEMPSENT) OR
(NOT .TEHPBLKEFHEHSV_THISALLOC]) OR
(NOT .TEMPBLKLFMEMSV_PREVALLOCY)

THEN
SIGNAL (DBGS_INTMEMERR, 1, .TEMPBLK);

! Make sure the memory pool block header before that looks correct and
i 1s consistent with the temporary block header.

1f (.BLKPTRCFMEMSB SENTINEL) NEQ _FMEMSK_SENTINEL) OR
(NOT .BLKPTRUFMEMSV_THISALLOC])) OR
(.BLKPTR FHEHSV-LENGTH% LSS .TEMPBLK[FMEMSV_LENCTH] + 2) OR
(.BLKPTRUFMEMSV_LENGTH) GTR .TEMPBLKLFMEMSV_LENGTH] + S)

THEN
SIGNAL (DBGS_INTMEMERR, 1, .TEMPBLK);

; Make sure the bottom end of the memory block looks allright too.

NEXTBLK = ,BLKPTR ¢ &¢.BLKPTRLFMEMSY LENGTH]:
IF (.NEXTBLKLFMEMSB_SENTINEL) NEG FMEMSK_SENYINEL) OR

)
11-809-1934 ? :47:85 AX=11 Bliis-32 V4.0-74%
14-Sep~1984 12:18:01 DEBUG.SRCIGE TMEMORY ,B3Z;1
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(NOT NEXTBLKLFMEMSYV_PREVALLOC))

THEN
SIGNAL (DBGS_INTMEMERR, 1, .BLKPTR);

5 This block looks good. Link to the next block and loop.

BLKADDR = .BLKADDR(O);
END:

OCOOOCOO0O0O00O
P alal nl uk n¥ al b o o
(oo ot o Yo W LV IV IV IV, ]
WPV = OO0 00 ~NO~ W

; The memory pool passes all tests. Return successfully to the caller.
ﬁETURN:
END;

AN LM LA U N A AN AN L AN U U AN NN
A U N L M AN M AN NN PO PONO NI N

et a V1A LN oS S VNIV VOV IV Vv VP o

OO0 NONNN (AN =2 OO0 O -

+TITLE GETMEMORY
. IDENT  \V04=000\

.PSECT DBGSOWN,NOEXE, PIC,2
00000000 00000 DBGSFREE_LIST:
00000000 00004 DBGSTEMP_ nengnv
00000000 00008 oasstsnpneg:gOOL?o:
0000¢ oessrenpﬁ%gggooagssz

.BLRB
00000000 00070 FMEM_BLOCK LIST:
LONG O

.EXTRN DBGSNMAKE ARG VECT

LEXTRN DBGSNMATCR, DBGSNSAVE DECIMAL INTEGER
.EXTRN DBGSRST REMOVE, 0B8GSGY_CONTROL

EXTRN LRUMSLISTHEAD, RSTSREF_LIST

.PSECT DBGSCODE ,NOWRT, SHR, PIC,0
03fC 00000 .ENTRY DgG:gHECK MEMORY, Save RZ2,.R3,R4,R5,R6,R7,- ; 0227

00002 MOVAB  DBGSFREE LIST

0 MOVAB  LIB$SIGNAL né

CLRQ  LISTHEAD FOUND

MOVL EM_BLOCK_LIST, AREAPTR

BNEQ

BRW $ :
R3)., BLKPIR :

(BLKPTR), 3% :
KPTR ;

66644
L1B$S ] GNAL ;
Anszprn), AREAPTR, R4 . 0279

0 ;

OO0
™

N = DOOOOM O OM
elelelelelelalelelele]
(olelelelolelelelelele
(lolelelelelolelelele)
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L
o0 OO0
NN NN
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~N
L

MOVAB
B88S
PUSHL
PUSHL
PUSHL
CALL
3% ADDL
SUBL?

5
0D 62

00028AF ¢

56 g 0¢
4

OP OWOWV—I O O NOMm
£ T NN B NSO O™
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GE TMEMORY 16-Sep=-1984 05:47:85 VAX=11 Bliss=32 v&.0=74
v04-000 164-Sep-1984 12:18:01 {DEBUG.SRCIGETMEMORY .B3Z; 1
54 52 D1 00038 CMPL BEKPTR, R&
7€ 1E 8oo§e BGEQU  17%
B2 8f 03 A2 91 0003Dp CMPB  3(BLKPTR), #178
00 13 00042 BEQL s
52 DD 000464 PUSHL  BLKPTR
01 00 00046 PUSHL  #1
00028AF4  B8F DD 00048 PUSHL  #166644
68 03 FB 0004E CALLS  #3, L£ $51GNAL
50 62 16 00 EFf Q0051 4% EXT2V 8, » (BSKPTR) RO
55 62640 DE 00056 MOVAL  (BLKPTRSLROJ, NExfBLK
06 6% 16 E1 0005A BB( #2J, (BLKPTR), S$
§3 6 17 go gooss BBS #33. (NEXTBLKS, 118
46 11 0006 BRB 108
50 FC  AS DY 00064 5% CMPL =4 (NEXTBLK), RO
00 13 00068 BEQL 68
52 00 0006A PUSHL BLKPTR
01 0D 0006C PUSHL M
00028AF4  8F DD 0006E PUSHL  #166644
68 03 FB 00074 CALLS  #3, LIBSSIGNAL
69 §2 D1 00077 6%: CMPL~  BLKPTR, DBGSFREE_LIST
26 12 0007A BNEG  O$
0D 65 17 €0 0007¢C BBS #23, (NEXTBLK), 7%
52 00 00080 PUSHL BLKPTR
01 oD 00082 PUSHL  #1
00028AF4  8F DD 00084 PUSHL  #166644
68 03 FB 0008A CALLS  #3, LIBSSIGNAL
00 56 E9 0008D 7$: BLBC LISTHEAD_FOUND, 8$
52 DC 10090 PUSHL  BLKPTR
01 oL 0092 PUSHL  #1
00028AF4 8F 0D 00094 PUSHL  #166644
68 03 FB 0009A CALLS  #3, LIBSSIGNAL
56 01 00 00090 8%: MOVL  #1, LISTHEAD_FOUND
13 11 000A0 BRB 14§
57 06 000A2 98: INCL FREECOUNT1
00 65 17 €1 000A& BB( #23, (NEXTBLK), 118
s2 DD 000A8 108: PUSHL  BLKPTR
01 0D 000AA PUSHL  #1
00028AF4  8F DD O0OAC PUSHL  #166644
68 03 fB 00082 CALLS  #3, LIBSSIGNAL
52 55 00 00085 11$: MOVL NEXTBLK, BLKPIR
FF7S 31 00088 BRW 3$
00 13 000BB 128%: BEQL 138
52 0D 000BD PUSHL  BLKPTR
81 00 8ooar PUSHL  #1
00028AF & F 0b 000CY PUSHL  #166644
68 03 FB 000C7 CALLS  #3, LIBSSIGNA
B2 8f 03 A2 91 000CA 13%: CMPB  3(BLKPTR), #178
08 12 000CF BNEQ 148
0?7 62 16 €1 00001 BB( #22. (BLKPTR), 148
01 62 16 00 eg 80005 CMPZV  #0, #22, (BLKPTR), M
0D 1% 000DA BEQL 15§
52 0D 000DC 14%: PUSHL  BLKPTR
01 0D OOODE PUSHL  #1
00028AF4  8F 0D 00OED PUSHL  #166644
6? o; rg 000E6 CALLS  #3, LIBSSIGNAL
5 é g 000E9 15%: MOVL (AREAPTR), AREAPTIR
FF27 31 000EC BRW 1%

LR PN ENL N PR N FE NN PR TR PR FE PR FEEE FE PR TR R TR TR ¥

Vs Vs 0s Vs 0 Wy By B e SV, * @
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GE TMEMORY 1% Sep-1984 02:47:25 AX=11 Bligs=32 V&.0=74 Page 10
v04-000 14- s.3-193 ?S 13:51 DEBUG. SRCIGE TMEMORY .B3S; 1 3
0D 56 E8 QOOEF 168: BLBS  LISTHEAD_ rouuo 17¢ ; 0370
69 00 000F2 PUSHL  OBGSFREE-LIST :
01 00 000F4 PUSHL  #1 :
00028AF4  8F DD 000F6 PUSHL  #166644 ;
68 03 €8 000FC CALLS  #3 LlesSQGNAL :
S4 D4 800FF 178: CLRL FREECOUNT 0376
50 69 00 00101 MOVL DBGSFREE LIST, RO 0377
53 SO 00 00104 MOVL RO, BACKPTR
52 06 A0 00 00107 MOVL 4(R0), BLKPIR : 0378
69 52 D1 00108 18%: CMPL ehxptﬁ DBGSFREE _LIST . 0379
50 13 0010€ BEQL i $ ;
B2 8F 03 A2 9 80119 CMPB (BLKPTR), #178 0385
0A 12 0011 BNEQ 19 :
06 6% 16 €0 00117 BB8S #22, (BLKPTR), 19% : 0386
5 08 A2 DY 00118 CMoL 8(BLKPTR), BACKPTR ;0387
00 13 0011Ff BEQL 20 ;
52 DD 001%1 19%: PUSHL  BLKPTR . 0389
01 00 00123 PUSHL  #1 :
00028AF4 8F DD 00125 PUSHL  #166644 :
68 03 B8 00128 CALLS  #3, LIBSSIGNAL :
50 62 16 00 EF oo1§§ 20%: EXTIV %0, #22, (BLKPTR), RO 0395
5§ 6240 DE 001 MOVAL  (BLKPTRICROJ, NEXTBLK :
B2 &F 03  AS 91 00137 CMPB S(NEXTBLK), #178 P 0396
0A 12 0013¢ BNEQ  21$ :
06 65 17 €0 0013€ 8BS #23, (NEXTBLK), 218 0397
50 FC  AS 01 00142 CMPL <4 (NEXTBLK), RO . 0398
00 13 00146 8EQL 223 :
S2 0D 00148 218: PUSHL  BLKPTR t 0400
01 0D 0014A PUSHL  #1 :
00028AF4  8F DD 0014C PUSHL  #166644 ;
68 03 fB 00152 CALLS  #3, LIBSSIGNAL ;
S& D6 00155 22%: INCL FREECOUNT?2 . 0405
53 52 00 00157 MOVL  BLKPTR, BACKPIR : 0406
52 06 A2 DO 0015A MOVL 4 (BLKPTR), BLKPIR . 0407
AB 11 0015€ BRB 18 : 0379
53 08 A2 D01 00160 23%: CMPL 8(BLKPTR), BACKPTR . 0415
05 12 00164 BNEQ  24$ ;
54 S7 01 00166 CMPL FREECOUNT1, FREECOUNT2 T 0616
00 13 00169 BEQL 25% ;
s2 DD 00168 24$: PUSHL  BLKPTR P 0618
01 0D 0016D PUSHL  #1 ;
00028AF4 8F 0D 0016F PUSHL  #166644 ;
68 03 FB 00175 CALLS  #3, LIBSSIGNAL ;
54 04 A9 og 00178 25%: MOVL D?GSIEHP_HEHORV. BLKADDR : 845&
01 12 0017C 26%: BNEQ  27% + 0425
04 0017€ RET :
53 064 A4 9F 0017F 27%: MOVAB  4(R&), TEMPBLK T 0627
52 FC A4 9F 00183 MOVAB -4 (R4S, BLKPIR . 064 g
B4 BF 03 A3 91 00187 CMPB 3(TEMPBLK), #180 ;04
08 12 8018( BNEQ  28% :
04 63 19 EY 0135 BB( nsi. (TEMPBLK) , Sas : 8« 4
00 63 17 €O 0019 8BS 223, (TEMPBLK) . 09% . 0435
53 00 00196 28S%: PUSHL TEMPBLK : 0437
01 00 00198 PUSHL FA H
00028AF4  8F DO 0019A PUSHL  #166644 :
68 03 8 001AQ CALLS #3, LIBSS 16~A5 :
B2 8F 03 A2 91 001A3 293 CMPB~  3{BLKPTR) 8 0443



GE TMEMORY
v04-000
50
50
50
50
50

: Routine Size:

1
6

62
63
62

62

00

513 bytes,

M
16
14
2¢ 12 001A8
Y 16 E1 QO1AA
16 00 EF 001A§
50 02 €0 Q018
16 00 ED Q0186
QF 19 80188
16 00 EF 0018D
50 05 €0 001C§
16 00 ED 001C
00 15 Q01CA
53 DD 001CC
01 DD 001(5
00028AF4  BF DD 001D
68 03 B 00106
16 00 EF 00109
55 6240 DE 001DE
B2 BF 03 A5 91 Q01€¢
04 12 001E7
65 17 EO QO01E9
5¢ 0D 001ED
01 0D QO01EF
00028AF4  BF DD Q01F1
68 03 F¢B Q01F7
54 64 D0 001FA
FF?7C 31 Q01FD
04 00200

Routine Base:

DBGS$CODE + 0000

p=1984 (02:47:
p=1984 15:18:

[(DEBUG.SRCIGETMEMORY.B3

(BLKPTR), 30%
;2 , (TEMPBLK), RO
cgz. (BLKPTR), RO
#22, (TEMPBLK), RO
, (BLKPTR), RO

« s N
-

[ 3

NRABRBR BN O

=
OWVOOOMNIONIO —Wn

= 0
O
~N

-4
— VY b

x £ )

O

[}

—

bat

#166644

#3, LIBSSIGNAL

#0. 422, (BLKPTR), RO
(BLKPTRICROJ, NEXPBLK
g(NEXTBLK). 78

s
#23, (NEXTBLK), 338
BLKPTR

"

#166644

#3, LIBSSIGNAL
égEKADDR)' BLKADDR

VAX=11 eligs-lz v4.0-74%
clJG 1

Page
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0457
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: 0470



GE TMEMORY
v04~000
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QLOBAL ROUTINE DBGSCOPY_MEMORY (SOURCE) =

FUNCTION

This routine creates a new block of memory and copies the contents of a

specified block to the new block. The new block is made large enough to
hold the entire contents of the specified block--the length of the spec-
itied block is gotten from the block's control longword (FMEMSV_LENGTH).
Note that the new block is a '‘permanent’’ memory block=~it is nof put on

the temporary block list,

INPUTS

SOURCE = A pointer to the memory block to be copied. This may be
either a permanent or a temporary block.

OUTPUTS

A new blnrk is allocated and the contents of the SOURCE block is copied
tc the new block. The address of the new block is returned as
the routine's value.

BEGIN

MAP
SOURCE: REF FMEMSBLOCK:; ; Pointer to allocated portion of the

memory block to be copied

LOCAL
LENGTH, : The length of the source and target
' . blocks in Longwords ]
SRCBLK: REF FMEMSBLOCK, ! Pointer to source block control info
TARGET; ! The address of the new memory block

: Pick up the address of the source block's control information and check
E that it is a valid memory block (permanent or temporary).

SRCBLK = SOURCECFMEMSA HEADER]:
If .SRCBLK[FHEHSB_SENTINEL% NEQ FMEMSK_SENTINEL AND
THEﬁsncaLx[rnsnsa_ssnrxneL NEQ FMEMSK TEMPSENT

SIGNAL (DBGS_INTMEMERR, 1, .SR(BLK);

: Get the length of the source block, allocate the target block, copy the
; the contents from the source to the target, and return the target address.

LENGTH = _SRCBLKCFMEMSV_LENGTIH] - 1;
TARGET = DBGSGET MEMORYT.LENGTH);
(HSMOVE (4+ . LENGTR, .SOURCE, .TARGET);
RETURN ,TARGET;

END;

Page

~ N



B 13

GE TMEMORY 16=Sep=1984 03:47:85 !Ax-11 Bliss=32 vé4.0-74 Page 13
v04-000 14-Sep=1984 10:18:01 DEBUG.SRCIGE TMEMORY .B32: 1 (4)
oo7§ 00000 _ENTRY DBGSCOPY MEMORY, Save R2,R3,R4,RS,Ré : 0671
52 04 AC 04 ¢ oooo; SUBL3  #4, SOURTE, SRgéLK . 0508
B2 &F 03 Ag 91 0000 CMPB 3(SRCBLK), #17 . 0509

18 13 0000C BEQL 18 ;
B4  8F 03 A2 91 oooo§ CMPB 3(SRCBLK), #180 1 0510

11 13 0001 BEQL 18 ;
52 DD 00015 PUSHL  SRCBLK P 0512

01 DbD 00017 PUSHL  #1 :

00028AF4  8F DD 00019 PUSHL  #166644 :

000000006 00 03 F¢8 0001F CALLS  #3, LIBSSIGNAL ;
52 2 16 90 sr ooose 18: EXTIv  #0., #22, (SRCBLK), LENGTH : 0518
2 9F 00028 PUSHAB =(LENGTH) P 0519

0000V CF 91 FB ooo§o CALLS  #1, DBGSGET_MEMORY :

56 SO D0 00032 MOVL RO. TARGET :
52 04 €& 00035 MULL 86, R2 . 0520

66 06 BC 52 28 00038 MOV R2. @SOURCE, (TARGET) :
50 $6 00 00030 MOVL TARGET. RO ;0521
04 00040 RET : 0523

; Routine Size: 65 bytes, Routine Base: DBGSCODE ¢ 0201



¢ 13
GE TMEMORY 16=-Sep=1984 05:47:85 VAX=11 Bliss=-32 v4.0-
v04-000 14-Sep=-1984 12:18:01 (DEBUG.SRCJGE TMEMORY,
%gg 8%% §LOBAL ROUTINE DBGSCOPY_TEMPMEM(SOURCE) =

P 397 052 i FUNCTION _ ,
. 398 05 : This routine creates a new temporary block ot memory and copies the con-
;399 0% ! tents of a specitied block to that new block. The new temporary block
. 400 0% ! s made large enough to hold the entire contents of the specified block
;601 05 : ==the block’s length is ?ottgn from FMEMSV_LENGTH. Since the new block
: 28% 82% ; is 8 ''temporary'’ block, it disappears at the end of the current command.
Po404 053 i INPUTS , , ,
;. 408 053 ! SOURCE = A pointer to the memory block to be coeved. This may be
: :89 02% 5 either a permanent or a temporary block.
;408 53 ' QUTPUTS . .
;. 409 53 ! A temporary block is allocated and the contents of the SOURCE tlock is
: 53 ! copied to the temporary block, The address of the temporary
R 54 ; block is returned as the routine's value.
: BEGIN
: MAP
: SOURCE: REF FMEMSBLOCK; ! Pointer to allocated portion of the
R ! memory block to be copied
; LOCAL

LENGTH, ! The Length of the source and target

! btocks in longwords
SRCBLK: REF FMEMSBLOCK, ! Pointer to source block control info
TARGET, ! The address of the new memory block

! Pick up the address of the source block's control information and check
s that it is a valid memory block (permanent or temporary).

SRCBLK = SOURCE[FMEMSA HEADER];
IF .SRCBLK[FMEMSB_SENTINEL) NEQ FMEMSK_SENTINEL AND
THE.sncaLx FMEMSB_SENTINEL] NEQ FMEMSK TEMPSENT

N
SIGNAL (DBGS_INTMEMERR, 1, .SRCBLK);

Be 8.0 Ve % 800 Vo0 0en, Ve

R ol R N 0 o o o o R AR AR af aF oF W o W W NP W W 3 N N

WA L A L U A A L ) AU RO PO RO RO RO AU PONY b d e e ed o o b b b
OO ~NO NN = OOV NN WA= OO0 NI NN = O

! Get the length of the source block, allocate the targe

AN = OO NN WA = O 000 NO NS N = O 000 N W B LN = O O 00 NO W L) = O O 00 O N IS

[elaleleleleleleleleleleolalalolelalelalalelelelelalelolalelaloleoleoleolololelelole
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: 228 ; the contents from the source to the target, and return
T LENGTH = ,SRCBLK(FMEMSV LENGTH] - 1;

;. b2 TARGET = DBGSGET TEMPMEM( ,LENGTH) :

D443 CHSMOVE (4+ LENGTR, ,SOURCE, .TARGET);

;b4 RETURN .TARGET;

;445

;. &&b END;

t block, copy the
the target address.

@O~

(VR o
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Page
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GE TMEMORY
v04-000
52 06
82
Bé

000000006
52 2
0000V
66 04

: Routine Size: 65 bytes, Routine Base:

AC
8F

8Ff

WD WA
oSN ™ OO

o
o

OO DPOM NO OO =20 =0~
OWHROW ™ NIMO OO N2 LN
(e]lalelolale oleolelelelelaololo o o o)
olelelelolololelelololelealelalels]
lelelolelelelolelelelslole ool o]
B AN N NNONIN) = b 2 2 2 OO0 000

00028AF 4

O PO S~ O = NIOIN ™ =R —NI0ON) &~
i
-

WVNOWNO NOOROWNM— P =P O
QO OWVMNIO DO MO ~NWNINIMO IO —

o
»

DBGSCODE + 02642

b) AX=11 Bliss=32 vé4.0 g
1 DEBUG. SRCJGE TMEMORY . 83 1

DBGSCOPY TEMPMEM, Save R2,R3I,R4,R5,R6
o4, SOURTE, SR(BLK
?;gﬂCBLK), 2178

?;SRCBLK), 2180
SRCBLK

0166666

#3, LIBSSIGNAL

#0, #22, (SR(BLK), LENGTH
- (LENGTH)

#1, DBGSGET_TEMPMEM

RO. TARGET

6, R2

R2, @SOURCE, (TARGET)
TARGET, RO

-«
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13
GE TMEMORY 15'599-198‘ 03:47:85 AX=1
14-Sep=-1984 12:18:01

Bliss=32 v4.0=74
v04-000 M

1 $$S
DEBUG.SRCIGE TMEMORY .B3Z; 1

;. G448 0576 1 GLOBAL ROUTINE DBGSEXPAND _MEMORY(LENGTH) =

;449 0577 1!

. 650 0578 1 ! FUNCTION

. N 0579 1! This routine expands the free memory pool. To do so, it calls the

. 452 0580 1 ! SEXPREG slstem service to get a new memory pool area at the end of PO
;453 0581 1! space, This area is initialized to contain one big free block and a

s 656 058% 1! one longword terminator block, after which the free block is linked

; 222 823‘ } ; into the memory pool free-{ist.

;457 0585 1! This routine is called during the Debugaer's initialization phase and
;458 0586 1! in response to the ALLOCATE and SET MODULE/ALLOCATE commands. It is

;. &S9 0587 1! never called automatically after DEBUG has given the user Rroxram

. 660 058 1 ! control unless the user has explicitly requested it (via the ALLOCATE
;. 461 0589 1! command or qualifier). The reason is that memory expansions after the
1Y 0590 1! user program has started can cause checkerboarding of DEBUG'S and the
;. 463 0591 1 ! user program's memory, which may affect the user program’'s execution in
o 464 0592 1! unpredictable ways. Such checkerboarding changes address relationships
;465 0593 1! in the user program, which can change pro?ram ehavior, and it makes it
. L66 05964 1 ! much more Likely that the user program will overwrite part of DEBUG'S
. 467 0595 1! memory pool. These possibilities are particularly undesirable since

. 468 0596 1! the user program is being debugged and can be presumed to have errors,
;. 469 0597 1! possibly including random addressing errors.

: 470 0598 1 !

;N 0599 1 ! INPUTS

;. 672 0600 1 ! LENGTH = The number of longwords to be added to the free memory pool.
; W73 0601 1! This must be at least & and at most 3FFFFF hex.

;474 0602 1!

. 75 0603 1 ! OUTPUTS . . .

;. &76 0606 1! The new memory area is acquired and added to the memory pool free-lList,
; 2;; 8282 } ; One of these two values is returned:

;. &79 0607 1! STSSK_SUCCESS == AlL went well and the memory is available.

;. 480 0608 1! STS$SK_SEVERE == The requested memory could not be gotten

;. 681 0609 1 ! from SEXPREG. The memory pool was thus

. 82 0610 1 ! not expanded.

: B3 0611 1!

; GB4G 0612 1

;. 4B8S 0613 2 BEGIN

. 486 0614 2

;. 487 0615 2 LOCAL . . .

; 488 0616 2 BACK.TR: REF FMEMSBLOCK, ! Pointer to previous free-list block
;. 489 0617 2 ENDPTR: REF FMEMSBLOCK, ! Pointer to end of the memory pool area
;. 490 0618 ¢ FORWPTR: REF FMEMSBLOCK, ! Pointer to the next free-lList block
;&N 0619 % FREEBLK: REF FMEMSBLOCK, ! Pointer to the one big free block

;. 492 0620 MEMBOUNDS: VECTOR(Z, tONG]. ! Start and end addresses of new area
;. 493 0621 2 MEMVECTOR: REF VECTORL,LONG], ! Pointer to acquired nenor{ area

. 496 0622 2 NUMLONGS, ! Number of longuords actus l‘ gotten
;495 0623 2 ' from SEXPREG for free block
496 0624 NUMPAGES, ! Number of pages to get from $EXPREG
: :gg 88%5 STATUS: B8LOCK[1, LONGI; ! Status code returned by SEXPREG
;499 0629

;500 0628 2 o i

10l 06;9 ! Check that the LENGTH parameter is in the valid range.

. 502 0630 !

;503 0631 IF .LENGTH LSS 4

;. 504 0632 THEN




GE TMEMORY
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F 13
16-Sep-19gk 0 :67:55 EAX-11 BlLiss-
14=Sep=1984 12:18:01 DEBUG.SRCIGE
MEMQ

1S

cwn

RY®):

$OBG_ERROR (' GE TMEMORY\DBGSE XPAND
THE $K_SEVERE;

3
IF .LENGTH GTR XX'3FFFFF’ N RETURR §

. Get the desired amount of memory from SEXPREG. Note that we request
' three extra Longwords for control information and the terminator block.
: We also round up to the nearest page boundary.

NUMPAGES = (. LENGTH ¢ 3 + 127)/128;
STATUS = SEXPREG(PAGCNT=,NUMPAGES, RETADR=MEMBOUNDS):
IF NOT .STATUS
THEN
BEGIN
SIGNAL (DBGS INSVIRMEM, . STATUS):
Es;uan STSSR_SEVERE;

MEMVECTOR = .HEHBOUNDSE?%:

NUMLONGS = (,MEMBOUNDS - .MEMBOUNDSCO] + 1)/XUPVAL - 3;

. We got the new memory pool area. Link this area into the singly Linked
: List ot memory pool areas and remember its byte length. Also set up the
; pointers to the one big free block and the terminator block.
HEHVECTOREOJ = FMEM BLOCK _LIST;
MEMVECTORE1) = (.NUMCONGS 3 3)efuPvAL;
FMEM BLOCK _LJST = HEHVECTOR[O]:
FREEBLK = MEMVECTOR(?2];

ENDPTR = MEMVECTOR(.NUMLONGS + 2];

Set up the one big free block in the memory area. Note that we mark the
previous ‘‘block’’ as being allocated--this prevents any attempt to coalesce
tree blocks oftf the top of the memory area. Link the free block into the
memory pool free-list.

L

i

i

i

!

FR
FREEBLK
IR

EEBLK(FMEMSV_LENGTH) = .NUMLONGS:
FMEMSV_THISALLOC) = FALSE:

EEBLK[FMEMSV_PREVALLOC) = TRUE;
REEBLK[FMEMSB SENTINSLJ = FMEMSK_SENTINEL;
ENDPTRCFMEMSL PREVLEN] = .FREEBLKCFMEMSY_LENGTHI;
FORWPTR = ,DBGSFREE_LISTCFMEMSL _FLINK];
BACKPTR = .DBGSFREE 5157:
FREEBLKCFMEMSL_FLINE] = _FORWPTR;
FREEBLK(FMEMSL BLINK) = .BACKPTR;
FORWPTR{FMEMSL “BLINK) = .FREEBLK;
BACKPTRCFMEMSL FLINK) = .FREEBLK;

! Finally build the terminator block. This '‘block’ is marked as allocated
! 50 that we will not coalesce free blocks otft the end of the memory area.
; Then return successful status.

ENDPTR{FMEMSY_THISALLOC)

_ TRUE ;
ENDPTRLFMEMSV_PREVALLOC]

éuoprntrncnsv LENGTH) = 1;
FALSE;




GE TMEMORY
v04-000

56
56
564
565

fC

62

AS

1g -Sep~-
14=-Sep~

1924 og:a7:ss AX=11 Bliss=32 v&.0-74
1984 12:18:01 DEBUG J GETMEM onv B32:1
.PSECT DBGSPLIT,NOWRT, SHR, PIC.0

LASCIT  <27>\GETMEMORY\<92>\DBGSE XPAND_MEMORY\
JEXTRN SYSSEXPREG

.PSECT DBGSCODE,NOWRT, SHR, PIC.,0
.ENTRY DBGSEXPAND _MEMORY, Save R2,R3,Ré4,RS
MOVAB  LIBSSIGNALS RS

MOVAB  FMEM BLOCK LIST, Ré4

susL2 #8, Sp

CMPL LENGTH A

BGEQ 18

PUSHAB P.AAA

PUSHL  #

PUSHL  #164706

CALLS  #3, LIBSSIGNAL

CMPL LENGTH, #4194303

BGTR 2§

ADDL3  #130, LENGTM, RO

DIVL2  #128, NUMPAGES

CLRQ -(SP)

PUSHAB MEMBOUNDS

PUSHL  NUMPAGES

CALLS W4, SYSSEXPREG

BLBS STATUS, 38

PUSHL  STATUS

PUSHL  #163987

CALLS  #2. LIBSSIGNAL

:g¥L ¥, RO

MOVL  MEMBOUNDS, MEMVECTOR

SUBL3  MEMBOUNDS., MEMBOUNDS+4. R1
INCL RY

DIVL?  #4, RY

SUBLZ  #3, NUMLONGS

MOVL rnén BLOCK LIST, (MEMVECTOR)
ASHL RUMLONGS, 4 (MEMVECTOR)
ADDL 2 c1é 4 (MEMVECTOR)

MOVL  MEMVECTOR, FMEM_BLOCK_LIST
MOVAB  8(R0), rnéfat

MOVAL  B(MEMVECTOR) LNUMLONGS], ENDPTR
INSV  NUMLONGS, #0, #22, (FREEBLK)
BICB?  #64, 2(FREEBLK)

BISB? M1 g. (FREEBLK)

MOVB  #- (FREEBLK)

EXTIV N0, #22, (FREEBLK), =4(ENDPITR)
MOVL  DBGSFREE_LIST, RO

0690 ENDPTRUFMEMSB _SENTIN E ] = FMEMSK_SENTINEL;
0691 RETURN STSSK_SUCCESS;
069§
069 END;
SC S9 52 4F 4D 4S5 4D S6 45 47 1B 00000 P.AAA:
&F 4D &5 4D SF 44 4E 41 SO SB &S 0Q000F
003C 00000
95 000000006 00 9& 00002
¢ 00000000* EF 9E 00009
SE 08 (2 00010
06 06 AC DY 00013
11 18 00017
00000000* EF 9Ff 00019
01 DD 0001F
00028362 8F DD 00021
65 03 FB 00027
OO3FFFFF  BF 06 AC D1 0002A 18:
2C 14 00032
50 064 AC 00000082 8F (1 00034
50 00000080 BF (6 00030
7€ 7C 00044
08 AE 9F 00046
50 DD 00049
000000006 00 04 FB 00048
OF 50 E8 00052
50 DD 00055
00028093 8f DD 00057
65 02 ¥F£B 0005D
50 04 DO 00060 2%:
04 00063
50 6 DO 00064 3$:
51 04 AE 6 (3 00067
51 D6 0006C
91 04 cg 0006E
N 03 (2 000N
60 64 DO 00074
04 A0 51 02 78 00077
06 AOD 0or €0 0007C
64 S0 00 00080
Si 08 A0 9E 00083
S 08 AQ4Y Ds 00087
16 00 St FO 0008C
02 A2 40 B8F 8A 000N
02 A2 80 8F 88 00096
03 A2 B2 B8F 90 00098
62 16 00 €EF 000AQ
50 90 A& DO 000A6
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GE TMEMORY 16=Sep=1984 02:47:25 AX=11 Bliss=32 V&.0=74 Page 19
v04-000 14-598-19 4 15 18:81 DEBUG.SRCIG rnenonv.533;1 9 (6)
51 06 A0 DO 000AA MOVL 4(RO), FORWPTR ;
04 A% 51 00 OOAS MOVL fonwpfn & (FREEBLK) . 0877
08 A 50 00 000B MOVL BACKPTR. 8(FREEBLK) . 0678
08 Al 55 00 00086 MOVL FREEBLK. B(FORWPTR) . 0679
04 AQ 52 00 000BA MOVL rneea K. &(BACKPTR) : 0680
63 16 00 01 €0 oooa§ INSV 7 “#22, (ENDPTR) {0687
02 A3 0 8F 88 000C BISB2 w6 Z(Enopfn) . 0688
og A3 80 8F 8A 000C8 gIcee  #128, g(ENDPTR) 0689
0 A3 B2 8F 90 000(D MOVB  #-78. 3(ENDPTR) . 0690
50 01 00 00002 MOVL #1, RO ;0691
04 000DS RET . 0693

; Routine Size: 214 bytes, Routine Base: DBGSCODE + 0283



GE TMEMORY
v04-000

(V]
oo
~

Y E YRR RN T

VAN NN WA NVIA UL AW
000000 CO 0000000000 N NNNNN~N~Y~YNO

OO NO N EAANNI =2 OO 00 NN NN = OO0 NN B iy = OO 00

AN A WVIVIA VWL
V00O OO0 OO

e 808000 0:080%0000¢00 008,00 9000 0,000 008: 08000 0c%r8+%0808s 00

(o ad o
(ole ]
-0

53

;. Routine Size:

833? } QLOBAL ROUTINE OBGSFREE_MEM_LEFT =
0696 1 ! FUNCTION
0697 1! This routine returns the amount of free memory left in the free memor‘
0698 1 ! pool. This is done by searching the entire free-list and adding up the
0699 1! sizes of all the free blocks.
0700 1!
0701 1 ! INPUTS
070% 1 NONE
0703 1!
0704 1 ! QuUTPUTS
8;82 } ; The amount of free memory left in longwords is returned as the value.
0707 1
0708 ¢ BEGIN
0709 2
0710 2 LOCAL
0711 2 BLKPTR: REF FMEMSBLOCK, ! Pointer to the current free block
8;}% % MEMLEFT; ! The amount of free memory in the pool
071¢ 2
0715 2 .
8;}9 % ; Search the free-lList and add up the sizes of all the blocks. Then return.
0718 ¢ MEMLEFY = 0;
0719 2 BLKPTR = ,DBGSFREE_LISTLFMEMSL FLINK];
0720 ¢ WHILE .BLKPTR NEQ "DBGSFREE_LIST DO
0721 3 BEGIN
0722 3 MEMLEFT = _MEMLEFT + , LKPTRLFMEMSV_LENGTH];
0723 3 BLKPTR = .BLKPIR[FHEHSL-FLINKJ:
0724 2 END;
0725 2
0726 2 RETURN .MEMLEFT;
0727 2
0728 1 END;
000C 00000 ENTRY DBGSFREE_MEM_LEFT, Save RZ2,R3
52 D& 00002 CLRL MEMLEFT
51 00000000' EF DO 00004 MovL DBGSFREE LIST, R
50 04 A1 DO 00008 MOVL 4(R1), BLKPTR
51 50 D1 0000F 1$: (MPL  BLKPTR, R1
0E 13 00012 BEQL 23
60 16 00 Ef 00014 EXT2Y #0, #22, (BLKPTR), R3
52 5% €0 00019 ADDLZ R3, MEMLEFTY
50 04 AQO DO 0001¢ MOVL 4(BLKPTR), BLKPTIR
ED 11 00020 BRB 1%
50 2 00 000 g 2%: MOVL MEMLEFT, RO
04 000 RET

38 bytes,

Routine Base: DBGSCODE ¢ 0359

e 8¢ 89 a2 90 Ve Bs Ve B Ve G
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GE TMEMORY 16-3ep=-1984 02:47:25 AX=11 Bliss=32 v&,0-74 Page 21
v04-000 14-Sep-1984 13:18:81 !DEBUG.SRC&GETHEHORV.BB ) 9 (S)
. 603 0729 1 GLOBAL ROUTINE DBGSGET_MEMORY(SIZE) =
. 604 0730 1!
. 605 0731 1 ! FUNCTION
. 606 07 i 1! This routine allocates a memory block of a specified size and returns
607 07 1! the block's address to the caller. The block contents is zeroed out
s 608 0736 1! before being returned. This is the primary routine for getting memory
: g?g 8;32 } ; blocks from the free memory pool.
. 6 0737 1! The routine uses the First=fit algorithm for finding a free memory
. 612 0738 1! block. The free-list is thus searched until a free block which is
. 613 0739 1 ! Large enough is encountered. That block is then split into two pieces,
;o 614 0740 1! one to be allocated to the caller and one to remain on the free list.
. 615 0761 1! This splitting does not occur unless the remainder is large enough to
; 2}9 8;2; } 3 be a free block (four longwords minimum).
. 618 0744 1! It no tree block of adequate size is found, an attempt is made to remove
. 619 0745 1! the Run-Time Symbol Table (RST) of the Least Recently Used module. It
. 620 07646 1! this succeeds (i.e., 1f there is such a module and it's not the onl¥ RST
;s 62 0747 1 ¢ module), the free-iist search is tried again. This is repeated until
. 622 0748 1! there are no more modules to be released except the Most Recently Used
. 623 0749 1 ! one, For this reason, the Debugger should never run out of free memory
: g%g 8;2? } ; under normal circumstances--the used memory is instead recycled.
. 626 0752 1! However, if a free block of adequate size still cannot be found, an
;627 0753 1! error is signalled unless a second parameter is eresent. It a second
. 628 0754 1! parameter is present (e.g., ADDR = DBGSGET_MEMORY(.SIZ2E, 0);), a zero
. 629 0755 1! is returned as the routine value.
. 630 0756 1!
. 63 0757 1 ! INPUTS o
. 632 0758 1! SIZE - The size of the desired memory block in longwords. This is
. g%z 8;28 } ; is the number of lLongwords to be allocated.
: 635 0761 1! An optional second parameter specifies that a zero should be returned
. 636 0762 1 ! it no block can be found to accommodate the request. The
. 637 0763 1! actual vatue of the parameter is not significant. If this
; 638 0766 1! parameter is omitted, an error is signalled.
. 639 0765 1 !
. 640 0766 1 ! OUTPUTS i ) ) )
. 641 0767 1! A memory block of the desired size is allocated and its address is -
. 642 0768 1 ! returned as the routine's value. [f a second parameter is
;643 0769 1! specified and no block is found, zero is returned.
. 644 0770 1!
;645 0771 1
. 646 077§ S BEGIN
. 647 077
. 648 0774 2 BUILTIN )
. 649 0775 2 ACTUALCOUNT; ! Actual number of calling parameters
. 650 0776 ¢
. 651 0777 2 LOCAL )
. 652 0778 2 BACKPTR: REF FMEMSBLOCK, ! Pointer to previous block on free-lList
;653 0779 2 BLKPTR: REF FMEMSBLOCK, ! Pointer to the current memory block
;654 0780 ¢ FORWPTR: REF FMEMSBLOCK, ! Pointer to the next block on free-list
. 655 0781 2 FREEBLK: REF FMEMSBLOCK, ! Pointer to free block split off from
: 656 078§ ! the allocated bloc
. 657 078 LENGTH, ! The Length of the allocated block
: 658 0784 ! . including the control longword
;6959 0785 LRUMPIR: REF LRUMSENTRY, ! Pointer to the Least Recently Used




K 13

GE TMEMORY 16=Sep=1984 02:47:25 AX=11 Bligs=32 v Page 2?2
v04-000 14~ Sep-19% ?5:18:51 DEBUG. SR 3 ETHE 83 ;1 9 (S)
. 660 0786 ! Module (LRUM) table entr[

. 661 0787 NEXTBLK: REF FMEMSBLOCK; i Pointer to the next sequential block
;o 66 0788 i in the memory pool

;66 0789

. 664 0790

. 665 0791

;. 666 079§ ! Make sure the requested block size is strictl{ positive and not too large.
. 667 079 | 1f Less than three longwords are rQQuested. allocate three longwords so
; ggg 8;3; : that the block can be released to give a four longword free block.

;. 670 0796 2 iF .SIZE LEQ 0

Y 0797 S THEN

. 672 0798 $DBG_ERROR (' GETMEMORY\DBGSGET_MEMORY');

. 673 0799 2 1F .SIZETGTR 16200

;. 676 0800 2 THEN

. 675 0801 ¢ $DBG_ERROR(" GETHEHORY\DBGSGET _MEMORY"*);

;. 676 0802 ¢ LENGTH =", SIJE +

. 677 0803 2 IF .LENGTH LSS & THEN LENGTH =

;. 678 0804 2

: 679 0805 2

. 680 0806 2 ! Loop through the entire free-list, searching for a block Large enough to
;s 681 0807 ¢ ! sllocate to the caller.

. 682 0808 2 |

. 683 0809 ¢ BLKPTR = .DBGSFREE _LISTOFMEMSL _FLINK];

;. 686 0810 g WHILE TRUE D

: 685 0811 BEGIN

. 686 081% 3

. 687 0813 3 .

R ggg 83}? g ; Do a few checks on the integrity of the free-List.

;. 690 0816 3 IF (.BLKPTRCFMEMSB_SENTINEL] NEQ FMEMSK_SENTINEL) OR

. 69 0817 & (.BLKPTRCFMEMSV_THISALLOC)

: 692 0818 3 THEN

. 693 0819 3 SIGNAL (DBGS_INTMEMERR, 1, .BLKPTR);

;. 696 0820 3

. 695 0821 3 ]

; ggg 83%% g ! 1f the current block is large enough, allocate all or part of it.

. 698 08264 3 IF .BLKPTRUFMEMSYV_LENGTH] GEQ .LENGTH

;699 0825 3 THEN

; 700 0826 & BEGIN

;701 0827 4

. 1702 0828 ¢ . _ ]

;. 103 08%9 4 ! This block is lLarge enough. Unlink it from the free-list.

. 104 0830 4 !

;705 08%1 & FORWPTR = .BLKPTRLFMEMSL _FLINK);

;. 706 0832 & BACKPTR = .BLKPTRLFMEMSL _BLINK]:

;707 0833 4 FORWPTR[FMEMSL _BLINK] = -BACKPIR;

; 708 0834 4 BACKPTRLFMEMSL™ _FLINK]) = _FORWPIR;

;709 0835 &

;. 110 0836 &

AN 0837 ¢4 ! 1t there was only one block on the free List, and it

R 71% 0838 & ! that block is not lorge enough to be s lit up, then

. N 0839 4 ! we want to return ‘'no free storage’ 1s is because we

;o Tk 0840 & ! cannot allocate the Last dblock on the free List (there

: ;}2 832} : ; is no way to unlink it from the free List).




k 13
GE TMEMORY 16-5ep-

1984 03:47:65 AX=11 Bliss-32 v&.0-742 Page 23
v04-000 16-Sep=-1984 12:18:01 DEBUG.SRCIGETMEMORY .B32; 1 (8)
s N7 0843 & IF (,FORWPTR EQL .BLKPTIR) AND
. 118 08464 ¢ (.BACKPTR EQL .BLKPTR) AND
. N9 0845 S (.BLKPTR{FMEMSV_LENGTH] LSS .LENGTH + &)
. 720 0846 & THEN
;12 0B47 & EXITLOOP;
. 122 0848 ¢
. 723 0849 &
L 0850 ¢ t 1t the block is large enough to accommodate the request, one
S 0851 &4 : control longword, and & four Longword free block, split it up.
; ;%9 8%2; 2 i Put the free portion of the block back on the free-list.
. 728 0854 ¢ IF_ .BLKPTRLFMEMSV_LENGTH] GEQ .LENGTH ¢ &
. 729 0855 & THEN
. 730 0856 § BEGIN
) 0857 S FREEBLK = .BLKPTR ¢ &4+ LENGTH;
;732 0858 § FREEBLK[FMEMSY_LENGTH) = .BLKPTRLFMEMSV_LENGTH) - .LENGTH;
. 733 0859 S FREEBLKLFMEMSYV_THISALLOC) = FALSE:
. 73 0860 S FREEBLKLFMEMSB_SENTINEL] = FMEMSK_SENTINEL.
. 735 0861 S FREEBLKLFMEMSL _FLINK] = ,FORWPIR;
. 736 0862 S FREEBLKLFMEMSL _BLINK] = .BACKPIR;
. 137 0863 S FORWPTR{FMEMSL _BLINK] = ,FREEBLK;
. 738 0864 S BACKPTRLFMEMSL FLINK] = FREEBLK;
;739 0865 5 NEXTBLK = .FREEBLK + 4*.FREEBLKCFMEMSY LENGTH];
. 740 0866 S NEXTBLKCFMEMSL PREVLEN] = _FREEBLKLFMEMSYV_LENGTH];
;T4 0867 S BLKPTRCFMEMSY_CENGTH] = .LENGTH;
. 762 0868 & END;
. 743 0869 &
Y 0870 & )
;s 745 0871 4 ! Mark the block as being allocated, 2ero it out, and return its
. 46 0872 4 ! address to the caller.
;747 0873 & !
; 748 0874 & BLKPTRLCFMEMSYV_THISALLOC] = TRUE;
;749 0875 & NEXTBLK = .BLRPTR + 4+ BLKPTR{FMEMSV_LENGTH];
s 150 0876 & NEXTBLK[FHEH‘V,PREVAL%OC] = TRUE;
Y 0877 & CHSFILLCO, &4+ ( BLKPTR{FMEMSYV LENGTH] - 1), BLKPTRLFMEMSA_ALLOCBLK]);
. 752 0878 & RETURN BLKPTRCFMEM$A_ALLOCBLR];
;s 753 0879 3 END;
. 756 0880 3
;755 0881 3 _ _
;156 0882 3 ! The block was not lar?e enough==Link on to the next free-lList entry,
: ;gg gggz g ; iIf this puts us past the end of the free-list exit the search loop.
: 759 0285 3 BLKPTR = .BLKPTR{FMEMSL FLINK];
. 160 0886 3 IF .BLKPTR EQL .DBGSFREE_LIST tHEn ExtTLOOP;
;761 0887 2 END;
;762 0888
;163 0889 )
;164 0890 : We could not find a block Large enough for the request. 1f we are
;165 0891 ! in a8 state where it is OK to expand the memory pool (either the user
. 166 089§ . program has not yet run or the user has requested SET MODULE/ALLOCATE)
. 767 089 ' then expand the memory pool and try again. We expand by the desired
; ;gg 8832 : length plus 8000 longwords.
. 170 0896 IF .0BGS$GY_CONTROL(DBGSY CONTROL ALLOCATE) OR
;N 0897 (NOT .DBGSGV_CONTROL{PBGSV_CORTROL _URUN])
. 0898 g THEN
. 173 0899 BEGIN
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16-599-19%4 05:47:85 VAX-11 Bliﬁs-BZ V4.0-74 Page
164-Sep=-1984 12:18:01 (DEBUG.SRCIGE TMEMORY.B32; 1

%;EgBGSEXPAND_HEHORY(.LENGTH + 8000)
o RETURN DBGSGET_MEMORY(.SIZE);

: We could not find a block Large enough for the request. If there is no
! second parameter, signal the error. Otherwise return zero as the block
; address.

IF _ACTUALCOUNT() EQL 1 THEN SIGNAL(DBGS_NOFREE);

RETURN 0;
END;

.PSECT DBGSPLIT,.NOWRT, SHR, PIC.0
4F 4D 45 4D 5S4 45 47 1B 0001C P.AAB: .ASCII <24>\GETMEMORY\<92>\DBGSGET_MEMORY\
4F 4D 45 4D S5F S4 45 47 00028
4F 4D 45 4D 54 45 47 1B 00035 P.AAC: .ASCII <24>\GETMEMORY\<92>\DBGSGET_MEMORY\
4F 4D 45 4D SF S& 45 47 00044

.PSECT DBGSCODE,NOWRT, SHR, PIC.0

OFFC 00000 .ENTRY ggc:gern?gnoav, Save R2,R3,R4,RS,R6,R7.R8,~
04 AC DS 00002 TSTL S12€E
15 14 00005 BGTR 18
00000000° EF 9F 00007 PUSHAB P.AAB
01 0D 00000 PUSHL  #i
00028362 8F 0D 0000F PUSHL  #164706
000000006 00 03 B 00015 CALLS  #3, LIBSSIGNAL
0000380  8F 04 AC D1 0001C 1$: (MPL SI1ZE, #16000
15 15 00024 BLEG 2%
00000000° EF 9F 00026 PUSHAB P, AAC
01 0D 0002¢ PUSHL  #1
00028362 8F DD ooogs PUSHL  #164706
000000006 00 03 FB 00034 CALLS  #3. LIBSSIGNAL
04 AC 01 €1 00038 2%: ADDL3  #1, SIZE, LENGTH
04 Sg D1 oooag CREL  {ENGTH, 44
03 18 0004 BGEQ
56 04 00 00045 MOVL  #4, LENGTH
50 00000000° EF DO 00048 3%: MOVL DBGSFREE LIST, RO
57 06 AO0 D00 0004f MOVL 4&(RO), BCKPIR
B2 Bf 03 A7 91 00053 4$: CMPB  3(BLKPTR), #178
04 12 00058 BNEQ 5%
67 16 €1 8005A BB( 822, (BLKPTR), 6%
57 0D 0005E S5%: PUSHL  BLKPTR
01 0D 0006 PUSHL  #1
00028AF&« 8F DD 0006 PUSHL  #166644
000000006 00 03 B 0006 CALLS  #3, LIBSSIGNAL
16 00 €D 0006F 6$: CMPIV  #0. #22, (BLKPTR), LENGIH
03 18 00074 BGEQ 7%

0 s Ve Ve 0000 Ts0aBs BB BBV Vs BsTe Ve W, %e B,

26
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0729
0796
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0809
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0824
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GETMEMORY 16=3ep=-1984 02:47:25 AX=11 Bliss=32 v4.0-74 Page 25
v04-000 14-5e3-1934 15:18:51 DEBUG. SRCIGE TMEMORY.B32; 1 * &
0089 ;1 00076 BRW 108 ;
59 04 A7 70D 00079 7% MOVQ  4(BLKPTR), FORWPTR . 0831
08 A9 SA DO 00070 MOVL  BACKPTR, B(FORWPTR) 1 0833
064 AA 59 DO 00081 MOVL FORWPTR, &4(BACKPTR) ; 0834
57 59 D1 00085 CMPL FORWPTR, BLKPIR : 0843
10 12 00088 BNEQ 8% :
57 SA D1 0008a CMPL BACKPTR, BLKPTR ; 0844
08 12 0008D BNEG 8% :
50 04 A6 9E QO0O8F MOVAB  4(R6), RO P 0845
50 67 16 00 ED 00093 CMPIV  #0, #22., (BLKPTR), RO :
78 19 00098 BLSS 114 :
50 06 A6 9E 0009A 8% MOVAB  4(R6), RO : 08564
50 67 16 00 ED 0009§ CMP2V  #0, #22, (BLKPTR), RO :
39 19 000A BLSS 13 ;
58 6746 DE 000AS MOVAL  (BLKPTR)CLENGTH], FREEBLK ;0857
50 67 16 00 EFf 000A9 EXT2V  #0, #22, (BLKPTRS, RO . 0858
50 56 (2 000AE SUBL2  LENGTH, RO :
68 16 00 50 FO 0O00BT INSV RO, #0., #22. (FREEBLK) :
02 A8 40 8F B8A 000B6 glcB2  w6d, 2(FREEBLK) . 0859
03 A8 B2 8F 90 000BB MOVB  #-78, 3(FREEBLK) : 0860
04 A8 59 70 000C0 MOVQ FORWPTR, 4(FREEBLK) . 0861
08 A9 58 DO 000C4 MOVL FREEBLK, 8(FORWPTR) : 0863
04 AA §8 00 000C8 MOVL FREEBLK. 4(BACKPTR) . 0864
50 68 16 00 EF.000CC EXTIV  #0, #22. (FREEBLK), RO : 0865
58 6840 DE 00001 MOVAL  (FREEBLK)CROJ, NEXTBLK
FC AB 50 DO 000DS MOVL RO, =4 (NEXTBLK) : 0866
67 16 00 56 FO 00009 INSV  LENGTM, #0, #22, (BLKPTR) . 0867
02 A7 4«0 8F 88 000DE 9% BISB2  #64, S(BLKPTR) : 0874
50 67 16 00 EF 000E3 EXTIV  #0, #22, (BLKPTR), RO . 0875
58 6740 OE 000€8 MOVAL  (BLKPTRICROJ, NExTBLK :
02 A8 80 B8F 88 000EC BISB2  #128. 2(NEXTBLK) : 0876
50 D7 000F1 DECL RO 1 0877
50 04 C4 000F3 MULL2 #4. RO ;
50 00 6F 00 2C 000Fé MOVCS  #0, (SP), %0, RO, &(BLKPTR) :
064 A7 000FB ;
50 06 A? 9E 000FD MOVAB  4(BLKPTR), RO : 0878
04 00101 RET ;
57 06 A? 00 00102 10%: MOVL 4(BLKPTR), BLKPTR . 0885
00000000 Ef 57 D1 00106 CMPL BLKPTR, DBGSFREE_LIST . 0886
03 13 00100 BEQL 11 ;
FF41 31 0010F BRW 48 ;
000000006 00 95 00112 11%: 1STB  DBGSGY_CONTROL : 0896
08 19 00118 BLSS 1;: ;
15 000000006 00 03 so 8011A 8BS #3, DBGSGV CONTROL, 138 0897
17640 €6 OF 00122 12%: PUSHAB BOOO(LENGTR) : 0900
FDD9 CF 01 FB 00126 CALLS ", DgGSEXPAND-HEHORv .
09 SO E9 00128 BLB( RO, 138 ;
06 AC DD 0010¢ PUSHL  SIZE : 0902
FECA CF 01 FB 00131 CALLS  #1, DBGSGET_MEMORY ;
04 801 9 RET ;
01 6C 91 00137 13s: CMPB (AP), M 10910
00 12 0013A BNEQ 148 ;
00028332 8F DD 0013¢ PUSHL  #164658 ;
000000006 00 01 FB 00143 CALLS  #1, LIB$SSIGNAL ;
S0 D& 00149 14%: CLRL RO 0911
04 0014B RET ;0913
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GE TMEMORY 16~-Sep=-1984 05:47:85 AX=11 Bliss=32 v4.0-7¢
v04-000 14-Sep=1984 12:18: 0! DEBUG.SRCIGE TMEMORY .B32; 1
. 789 0914 1 GLOBAL ROUTINE DBGSGET_TEMPMEM(LENGTH) =
. 790 0915 1!
i N 0916 1 ! FUNCTION )
. 192 0917 1! This routine allocates a '‘temporary’’ memory block from the memory pool
. 793 0918 1! and returns its address. A ‘‘temporary’’ block is a memory block which
s 794 0919 1! automatically disappears the next time DBGSREL TEMPMEM is called, norm-
. 795 0920 1! ally at the end of the current command. The advantage of temporary
. 196 0921 1! blocks is that theg do not have to be explicitly released to the memory
: ;gg 83%% } ; pool==-one call on DBGSREL_TEMPMEM releases all temporary blocks.
. 799 09264 1! ALl temporary memory blocks are put on the singly linked Llist pointed
. 800 0925 1! to by DBGSTEMP_MEMORY. To accommodate this Link and a second controt
. 80 0926 1! word with the Block's Length and a sentinel value, two extra longwords
. 802 0927 1! are needed.
. 803 0928 1!
. B804 09%9 1 ! INPUTS
; ggg 833? } ; LENGTH =~ The desired length of the temporary block in longwords.
. 807 0932 1 ! OUTPUTS )
. 808 0933 1! The requested block is allocated and put on the temporary memory list,
. 809 0936 1! The address of the allocated block is returned as the rout-
;. 810 0935 1! ine's value,
. 8N 0936 1!
. B12 0937 1
;. 813 0938 2 BEGIN
. 814 0939 2
. 815 0940 2 LOCAL ]
. 816 0961 2 BLKADCR: REF VECTOR[,LONG], ! Pointer to the block allocated by
. 817 0942 2 ! routine DBGSGET_MEMORY
. 818 0943 2 BLKPTR: REF FMEMSBLOCK; ! Pointer to the temporary block's own
. 819 0946 2 ' control longword
. 820 0945 2
. 821 0946 2
. 822 0947 2 . _ _ )
. 823 0948 2 ! Allocate a memory block of the desired size plus two loq?uords. Link this
. 824 0949 2 ! block into the temporary block List using longword 0, fill some control
: ggg 882? % ; information into longword 1, and return the address of longword 2.
. 827 09%2 2 BLKADDR = DBGSGET MEMORY(.LENGTH + 2);
. 828 0953 2 BLKADDR(O]) = .DBGSTEMP_MEMORY;
. 829 0954 2 DBGSTEMP_MEMORY = ,BLKADDR;
. 830 0955 2 BLKPTR ="BLKADDR(1);
. 8N 0956 2 BLKPTRLFMEMSY_LENGTH] = .LENGTH ¢+ 1;
. 832 0957 g BLKPTRLFMEMSY_THISALLOC) = TRUE;
. 833 0958 BLKPTRLFMEMSY_PREVALLOC] = TRUE;
; 834 0959 2 BLKPTRLFMEMSB_SENTINEL] = FMEMSK_TEMPSENT;
. 835 0960 2 RETURN BLKPTRTFMEMSA_ALLOCBLK];
. 836 0961 ¢
. 837 0962 1 END;

52 00000000°
TE AC

000
002
009

JENTRY DBGSGET TEMPMEM, Save R2
MOVA DBGSTEMP MEMORY, R?
ADDL 82, LENGTH, =-(SP)
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GE TMEMORY 16=Sep=~1984 02:47:25 VAX=11 Bliss=32 v&,0-742
v04=000 164-Sep~1984 15 18:01 CDEBUG. SRCIGE TMEMORY . 832:1
FEA1  CF 01 B oooog CALLS  #1, DBGSGET MEMORY
60 62 00 0001 MOVL OBGSTEMP MEMORY, (BLKADDR)
62 80 DOE 00016 MOVA (BLKADDRY+, DBGSTEMP_MEMORY
51 06 AC 01 €1 00019 ADDL 31, LSNGTH R1
80 16 00 §1 FQ 00015 INSY 824, (BLKPTR)+
01 A0 (0 8F gs ooog 8]SB2 3162 f(BLKPTR)
02 A0 B¢ 8F 90 00028 MOVB #-76. 2(BLKPTR)
50 03 (0 ooogo ADDL2  #3, RO
046 00030 RET

. Routine Size: 49 bytes, Routine Base: DBGS$CODE + (04(B

Ve e By B,y 0y 0.8, 0, 8,
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v04-000 14-Sep=-1984 12:18:01 (DEBUG.SRCIGETMEMORY .B32; 1 (10
. 839 0963 1 GLOBAL ROUTINE DBGSIN]T_MEMORY: NOVALUE =
. B840 0966 1 !
. B& 0965 1 ! FUNCTION ) .
. B¢ 0966 1 ! This routine initializes the free memory pool from which DBGSGET_MEMORY
;. 84 0967 1! allocates memory blocks. This is done ‘y Betting space either uB in
. 864 0968 1 ! high P! space (for a normal or a testable ebu?ger)_or from SEXPREG
. B6S 0969 1! (tor 8 Super-Debugger). The free memory pool is initialized to have a
. BG 0970 1! free-List List head and one big free memory block from which space can
. B&7 0671 1! Later be allocated.
. B48 097§ 1!
. B&Y 0973 1! Note that the memory pool can be expanded later by cails on the routine
: 850 0976 1 DBGSEXPAND _MEMORY .
. 8% 0975 1!
: BS? 0976 1 ! INPUTS
. 85% 0977 1 ¢ NONE
. 854 0978 1!
. 855 0979 1 ! QUTPUTS
. 856 0980 1 ! NONE
. BS?7 0981 1!
. 858 0982 1
. 859 0983 2 BEGIN
. 860 0984 2
. 861 0985 2 LOCAL
. 862 0986 ¢ ENDPTR: REF FMEMSBLOCK, t Pointer to the end of memory pool area
: 863 0987 2 FREEBLK: REF FMEMSBLOCK, ! Pointer to one bl? free block in pool
;. B6& 0988 ¢ LENGTH, ! Longword length of memory pool areas
: 865 0989 2 LISTHEAD: REF FMEMSBLOCK, ! Pointer to the free~-lList List head
;. 866 0990 2 NUMBYTES, ! Number of bytes to get from SEXPREG
. 867 0991 2 MEMBOUNDS: VECTORL2, LONG], ! Start and end addresses of new ares
. 868 0992 2 MEMVECTOR: REF VECTOR[,LONG], ! Pointer to acquired memory pool area
;. B69 0993 2 NUMPAGES , ! Number of pages to get from SEXPREG
: 70 0994 2 STATUS: BLOCKL1, LOMG); ! Status code from SCRETVA or SEXPREG
;. 8N 0995 2
. 872 0996 2
. 873 0997 2
. 874 0998 ¢ ' It this is a normal Debugger or a Testable Debugger, we allocate the
. 875 0999 2 ! initial chunk of menorl pool area up in htgh user memory (P1 space).
: g;g }88? % : This is done through the (Create Virtual Address Space system service.
. 878 1002 2 IF NOT .DBGSGV_CONTROLLDBGSV_CONTROL _SDBG]
. 879 1003 g THEN
. 880 1004 BEGIN
. 881 1005 3 MEMBOUNDSEO] = XX'7FFFQ000';
. 88 1006 3 MEMBOUNDSE1] = XX 7FFFFFFF";
. 88 1007 3 STATUS = SCRETVA(INADR=MEMBOUNDS, RETADR=MEMBOUNDS):
; B84 1008 3 IF NOT _STATUS
. 885 1009 3 THEN
. 886 1010 4 BEGIN
; 887 1011 4 STATUS(STSSV SEVERITY]) = STSSK_SEVERE;
. 888 101; 6 SIGNAL (.STATODS);
. 889 101 3 END;
. 890 1016 3
. 89 1015 g END
;. B892 1016
. 893 1017 g o
. 89¢ 1018 ' 1t this is a Super-Debugger, we get the initial chunk of memory from the
;. 895 1019 3 ' SEXPREG system service. We cannot touch the Pl-space area because it is

< O
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)

block available for allocation. Finally, the Last lLongword is the termi-
nator block for this memory pool area.

v04-000 1 p=-1984 DEBUG.SRCIGE TMEMORY.B32;1 a0
ggg : used by the Testable Debugger that the Super-Debugger is debugging.
898 ELSE
899 BEGIN
900 NUMBYTES = 65536;
901 NUMPAGES = NUMBYTES/S512;
90?2 STATUS = SEXPREG(PAGCNT=_,NUMPAGES, RETADR=MEMBOUNDS);
903 1F NOT .STATUS THEN SIGNAL(.STATUS);
ggg END;
906 ! Now initialize the memory pool area. The first longword is a forward Link
907 ! to the next memory pool area=-for this initial area this fteld is always
908 ! zero. _The second longword contains the byte length of this area., Long-
909 ! words 2 = 5 then contain the free-List List head. The rest of the area
910 ; from longword 6 through the next to lLast longword constitutes a big free

]

MEMVECTOR = EHBOUNDSSOJ

LENGTH = (,MEMBOUNDSC1] =  .MEMBOUNDSCOJ ¢ 1)/XUPVAL;
MEMVECTOR EOJ =

MEMVECTOR(1] = .LENGTH'!UPVAL:

LISTHEAD = HEHVECYOR(%J:

FREEBLK = MEMVECTOR(6

ENDPTR = MEMVECTOR[.LENGTH =~ 1];

! Set up the free-List List head.

S Rtk 2R A 2R A Y L Ve iV L L TV T T P N LN L L NN LN NN N TN

]

LISTHEADCFMEMSY_LENGTH] =

LISTHEADLFMEMSY" THISALLOC] = FALSE;
LISTHEAD(FMEMSV_PREVALLOC]) = TRUE;
LISTHEADCFMEMSB SENTINEL] = FMEMSK_SENTINEL;
LISTHEADLFMEMSL_FLINK] = .FREEBLK;
LISTHEAD(FMEMSL BLINK] = .FREEBLK;
FREEBLKLFMEMSL_PREVLEN] = &;

Set up the one big free block in the initial memory pool. Note that we
claim that the List Head is allocated--this prevents the List Head from
being coalesced with the following memory block by DBGSREL _MEMORY.

VOO0 OOV VOOV OOV OOV OVOVOVOVOOOVOOVOOOOO

W U L A U LA N U U POV NI PO NI NI RO A —d b e b b b b d ah
NO N NN w2 OO 0D NO W NN = O O 00 O N 8 iR —

TR P R T R I R T R T N N R N R i R N P N T I N R R E T E T T T T E R I A T YT s

]
'
'
(]
938 FREEBLK[FMEMSYV_LENGTH] = LENGTH = 7;
939 FREEBLKLFMEMSY™ THISALLOC} = FALSE;
940 FREEBLKCFMEMSV PREVALLOC) = TRUE;
941 FREEBLK[FMEMSB_SENTINEL] = rnEnsx _SENTINEL;
L9 FREEBLKLFMEMSL FLINK) = .LISTHEAD
94 FREEBLKLFMEMSL BLINK) = .LISTHEA
96 ENDPTR [rnensL _PREVLEN] = rneeethrnensv _LENGTH];

! Set up the "‘allocated’’ terminator block at the end ot the memory pool
: area to prevent blocks trom being coalesced beyond the end ot the area.

ENDPTR{FMEMSY_LENGTH) = 1;
ENOPTR[FMEMSY THISALLOC) = TRUE;
ENOPTRLFMEMSY_PREVALLOC] = FALSE;

e o e e il ) el ) i i il el D alh nld il D e nh ol i D el i e i D D el e D sl il el e s il el ol o oD ol o ol i el ool e el o el ol e D o
O VBN = OOV NO NS N =2 OOV NO WS WN 2O OO N NS i) = OO0 N NI NN = O D00 NN i) — O
AORLPLALALALALNLNL PO NV RLALALNL NV AL NN AL RNINVNL NV AU NI RN AV AU AL A AL AL NI R AV AINL AL RO A PRI AN AL AU NI U NN AN LN

NNNNNYNNOOCOOOO0O0 O O NV

s B2 Bsn, 0,080
0
"
o



GE TMEMORY
v06-000
. 95% 1077
;954 1078
;9SS 1079
i 956 1080
. 957 1081
;. 958 108§
;999 108
. 960 1084
. 961 1085
s 962 1086 ¢
;o 963 1087 1
28
50 03
51
50
53
06 A1
62 16
60 16

14
16=-5ep-1984 03:47:85 ¥A1-11 Bligs-32 v4.0-74
164-5ep-19846 12:18: N DEBUG.SRCIGE TMEMORY B3 1

ENDPTRCFMEMSB_SENTINEL] = FMEMSK_SENTINEL;
. Set up the two OWN pointers we need to maintain, One points the the list
; of memory pool areas and the other points to the free-list. Then return.

FMEM BLOCK LIST = MEMVECTORLOD:
DBGSFREE _LIST = .LISTHEAD;

RETURN;
END:
JEXTRN SYSSCRETVA
003C 00000 LENTRY DBGSINIT_MEMORY, Save R2,R3,R4,RS
SE 08 (2 00007 SUBL2 #8, SP
000000006 00 01 EO0 00005 BBS #1. DBGSGV CONTROL, 1%
6E 7FFFO000 B8F 00 0000D MOVL #2§42418112, MEMBOUNDS
04 AE TFFFFFFF 8F DO 00014 MOVL #2167483647, MEMBOUNDS+4
7€ 04 0001C CLRL -(SP)
04 AE 9F 0001E PUSHAB MEMBOUNDS
08 AE 9F 00021 PUSHAB MEMBOUNDS
000000006 00 03 FfB 00024 CALLS #3, SYSSCRETVA
30 SO €8 00028 BLBS STATUS, 3%
00 04 FO 0002E INSV 24, #0. ¥#3. STATUS
20 11 00033 BRB 28
50 00010000 8F DO 00035 1$: MOVL #65536, NUMBYTES
50 00000200 8F (€7 0003¢C DIVLS  #512, NUMBYTES, NUMPAGES
7E  7C 00044 CLRO -(sP§
08 AE  9F 00046é PUSHAB MEMBOUNDS
51 DD 00049 PUSHL  NUMPAGES
000000006 00 04 FB 0004B CALLS  #4, SYSSEXPREG
09 50 E8 00052 BLBS STATUS, 3%
50 0D 00055 2%: PUSHL  STATUS
000000006 00 01 FB 00057 CALLS  #1, LIBSSIGNAL
51 6 DO 0005E 3$: MOVL  MEMBOUNDS, MEMVECTOR
06 AE 6E €3 00061 SUBL3  MEMBOUNDS. MEMBOUNDS+4, RO
50 Db 00066 INCL RO
50 04 €7 00068 DIVLS  #4, RO, LENGTM
61 D& 0006C CLRL (MEMVEL TOR)
53 02 78 0006E ASHL #2. LENGTH, &(MEMVECTOR)
52 08 A1 9E 00073 MOVAB  8(R1), LISTHEAD
50 18 A1 9 00077 MOVAB 24 (R1§, fnesatx
54 FC A143 DE 00078 MOVAL -4 (MEMVECTOR)LENGTH], ENDPIR
00 04 FO 00080 INSV w4, #0, #22, (LISTHEAD)
02 A2 40 8F BA 00085 BICB2  #64, 2({LISTHEAD)
02 A2 80 &F 88 0008A BISB2 n1;6. g(LlSTHEAD)
03 A2 B2 8F 90 0008f MOVB  #-78., S(LISTHEAD)
04 A2 50 DO 00094 MOVL FREEBLK, &(LISTHEAD)
08 A2 50 D0 00098 MOVL FREEBLK, 8(LISTHEAD)
FC AD 064 DO 0009¢C MOVL " -A(fREEBLK)
55 F9 A3 9€ 000A0 MOvAB -7{R3), R
00 55 £0 000AL INSV RS, #Q. #22, (FREEBLK)
02 AQ 40 8F BA 000A9 axcag 06l 2LFREEBLK)
02 A0 80 8F 88 000AE BISBZ  #128. 2(FREEBLK)

Page 1
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239 bytes, Routine Base: DBGSCODE + 04F(

: Routine Size:
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18:01 ™ 1 (1)

iss
v04-000 14-Sep=1984 12: DEBUG.SRCJGE TMEMORY .B3
; 822 }838 } GLOBAL ROUTINE DBGSNPARSE_ALLOCATE (INPUT _DESC, VERB_NODE, MESSAGE_VECT) =
. 967 1090 1 ! FUNCTION

. 968 1091 1! Parses the ALLOCATE command. The 'ALLOCATE'' has already been

. 969 109; 1! rocognized by the top-Level parse routine. This routine picks

;. 970 1093 1t ! ug the integer argument and constructs a command execution tree.

. 9N 1096 1! The tree has the verd node for ALLOCATE, and a noun node with

. 972 109 1! the integer argument.

. 973 1096 1 !

974 1097 1 ! INPUTS _
s 975 1098 1! INPUT DESC = A string descriptor for the remaining command line
s 976 1099 1! VERB_RODE - The already existing verb node.

: g;g }}8? } ! MESSKGE _VECT - The address of a message argument vector.

: 979 110% 1 ! OUTPUTS

. 980 1103 1! The return value is one of: )

. 981 1106 1! STSSK_SUCTESS = Success. A command execution tree was constructed.
: gg% }}82 } ! STS$K_SEVERE « Failure. An error message vector is constructed.
: 984 107 2 BEGIN

: 985 1108 2

. 986 1109 ¢ MAP

: 987 1110 2 INPUT DESC : REF DBGSSTG DESC

© 988 111 2 VERB_RODE : REF DBGSVERB_NODE;

: 989 111§ 2

¢ 990 m 2 IND

L) 11146 2 DBGSCS_CR = UPLIT BYTE (1, DBGSK_CAR_RETURN);

i 99 1115 2

s 99 1116 2 LOCAL _

: ggg }}}; s NOUN_NODE : REF DBGSNOUN_NODE ; ! Pointer to a noun node

;. 996 1119 2 ! Check for end-of-line. This is an error.

. 997 1120 2 !

;998 1121 2 IF . INPUT_DESC CDSCSW_LENGTH) EGL 0

;999 112§ g THEN

: 1000 112 BEGIN

. 1001 1126 3 LMESSAGE _VECT = DBGSNMAKE _ARG_VECT (DBGS_NEEDMORE);

: 100 1125 3 RETURN STSSK_SEVERE;

; 100 1126 2 END;

: 1004 1127 IF DBGSNMATCH (.INPUT_DESC, DBGSCS_C(R, 1)

: 1005 1128 THEN

. 1006 11§9 BEGIN

: 1007 1130 3 .MESSAGE _VECT = DBGSNMAKE _ARG_VECT (DBGS_NEEDMORE);

: 1008 1131 3 RETURN STSSK_SEVERE;

: 1009 113§ S END;

: 1010 113 .

. 101 113 2 ' Create and Link a noun node.

: 101% 1135 g !

;10 1136 NOUN_NODE = DBGSGET _TEMPMEM(DBGSK _NOUN NODE SIZE);

: }813 }}gg g VERB_NODE (DBGSL_VERB_OBJECT_PTR) ™= . NOUN_NODE:

: 1016 1139 ! Pick up the integer argument.

: 1017 1140 5 !

: 1018 1141 IF NOT DBGSNSAVE DECIMAL INTEGER (.INPUY_DESC,

: 1019 114; NOUN_NODE [DBGSL_NOUR_VALUE],

: 1020 114 MESSAGE_VECT)

s 101 1144 THEN



J 14
GETMEMORY 16=-Sep=1984 02:47:265 AX=11 iss=32 v4.0-74 P 34
v04~-0600 1omaenT 38s 08:48 81 DEaue. cRC teThemsrY B35, 1 IANTER
. 102% 1145 RETURN STS$K_SEVERE;
: 102 1146
: 10264 1147 ! Return success.
: 1025 1148 !
: 1026 1149 RETURN STSSK_SUCCESS:;
: 1027 1150
: 1028 1151 1 END;
LPSECT DBGSPLIT, NOWRT, SHR, PIC,0
OD 01 O0O0O04E P.AAD: .BYTE 1, 13 2
DBGSCS_CR= P.AAD

.PSECT DBGSCODE ,NOWRT, SHR, PIC,0

0004 00000 .ENTRY DBGSNPARSE _ALLOCATE, Save R2 : 1088
52 06 AC DO 00002 MOVL 1~pur _DESC; R2 12
62 BS 00006 TSTW (R2) :
14 13 00008 BEQL 1s :
01 0D 0000A PUSHL T 1127
00000000' EF 9F QO00C PUSHAB oecscs CR ;
52 0D 00012 PUSHL % :
000000006 00 03 B 00014 CALLS  #3, oessnnArcu :
13 SO €9 00018 BLBC RO, 2% ;
00028000 8F DD 0001E 1$: PUSHL  #164048 : 1130
000000006 00 01 B 00024 CALLS  #1, DBGSNMAKE ARG VECT :
0C B¢ SO D0 00028 MOVL RO, @MESSAGE_VECT™ :
20 11 0002f BRB 111 TR
04 DD 00031 2%: PUSHL  #4 ¢ 1136
FEAE CF 01 FB 00033 CALLS  #1, DBGSGET TEMPMEM :
51 08 AC DO 00038 MOVL VERB_NODE, A1 S 1137
08 Al 50 D0 0003¢C MOVL nou~ NODE, B8(R1) :
0C AC DD 00040 PUSHL  MESSKGE VECT ¢ 1143
S0 DD 00043 PUSHL  NOUN_NODE 2 1142
5¢ DD 00045 PUSHL R :
000000006 00 03 B 00047 CALLS  #3, DBGSNSAVE _DECIMAL _INTEGER :
04 50 E8 0004E BLBS RO, 43 :
) 06 DO 00051 3$: MOVL #4, RO L1145
04 00054 RET :
0 01 DO 00055 &$: MOVL #1, RO : 1149
04 00058 RET ;118

. Routine Size: 89 bytes, Routine Base: DBGSCODE ¢ OSES
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?LOBAL ROUTINE DBGSNEXECUTE _ALLOCATE (VERB_NODE, MESSAGE_VECT)

FUNCTION .
This routine executes the ALLOCATE command.

i
i
E
! INPUTS

' VERB_NODE - The command verb that is the start of the command
! execution tree.

E MESSAGE _VECT = The address of the error message vector.
i

i

b

i

i

1 Bliss=32 v4.0-74 Page 35
DEBUG.SRCIGE TMEMORY .B3Z; ! (12)

OUTPUTS
The return
STS$K_SuC(
STSSK_SEVE

BEGIN

MAP
VERB_NODE : REF DBGSVERB_NODE;

LOCAL
NOUN_NODE: REF DBGSNOUN_NODE, ! A pointer to the noun node,
NUM_BYTES; ! The number of bytes to expand memory

code is one of:
ES - Success. Memory was expanded.

3
R . Failure. A message argument vector is constructed

; Obtain the noun node.
NOUN_NODE = .VERB_NODE (DBGSL_VERB_OBJECT_PTR];
s Check for zero - this is an error.
%§Eg"ou"-~°°E EQL O
$OBG_ERROR (*GETMEMORY\DBGSNEXECUTE _ALLOCATE');
; Extract the argument.
NUM_BYTES = .NOUN_NODE (DBGSL _NOUN_VALUE];
; Force the user to allocate at Least 1000 bytes.

O OO O O O O VAWV LSS S5 25 B 55 05 B IS B B N\ NN N N NN I

VL W = OO0V ~NO WS WWIN = OO ~NO WS LWIN = O 000 ~NO NS piN) = O O 00 ~NON N B AN = O O 00 NN LSS i) = O
£SNN0 =2 O OB NN WS N = O O 00 ~NONA 2 Wi =2 O O 00 N O WA S W) —2 O O 00 ~NON N S Ll

T Y ey Sy ey e e T T Y P P YR PR PR PN PR TR YR P PR I R R R PRI PR TR P PR YR YR N PR IR PR FE PN YR YR TR PR PN TN YW PR PR N YR TR I WY
— il e i e i e e ) ) D il D ) ) and ash and w cld D Bl il el D D i il T ) e il D el i D ) ) ) el D il il i) e il il ) D ) il oD ) il oD il
COOOOOOOVVVYVYVYVVVYWOOO0D00000800000000800 ~ N~NNVNNNNYNOOOO° OO OO0 O O v

i e sl e il i il D sl e e D il D o ) D el el el il el D sl ol e ) el il il i e il e el el el i i el D D e e i) D e e il S il s e il sl el D
PUAUIRURINIAINININ) b b b b o o el el o e e e wnlh e il i ) i ol o o) d el S el o el o s e o e e ) e o ol ) e o e ol e ol el o ol e
PURLND LRIV PN N N NN AN NI RNV RV A AL NNV NI A N A N NI NI NINI A NINI NI NI NINININY B b b b cad b e ecd d i o e e e

7 IF .NUM_BYTES LSS 1000

7 THEN

7 BEGIN

14 ) .MESSAGE _VECT = DBGSNMAKE _ARG_VECT (DBGS_ALLOBNDS);
7 6 RETURN STSSK_SEVERE;

; g END;

; 8 ; Call DBGSEXPAND_MEMORY to get the memory.

7 1 IF NOT DBGSEXPAND_MEMORY ((3+.NUM_BYTES)/4)

8 g THEN

8 BEGIN

8 & .MESSAGE _VECT = DBOSNMAKE _ARG_VECT (DBGS_UNAEXPMEM, 1, _NUM_BYTES);
8 S RETURN STSSK_SEVERE;

8 6 END;

8 7

8 08 ‘ Return success,
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09 ¢

10 ¢

11 2

212 1
C 59 352
€ 61 5S¢
43

104 bytes,

RETURN STS$K_SUCCESS;

END;

GF 4D 45 4D 54 4S5 47 1f
65 54 55 43 4S5 S58B 4S5 4E

4S5 54 41 00060

000C 00000

53 000000006 00 9t 00002

50 06 AC DO 00009

52 08 A0 DO 00000

15 12 00011

00000000* EF 9F 00013

0t 00 00019

00028362 8fF DD 00018

000000006 00 03 fB8 00021

52 62 00 00028

000003c8  8F 52 01 00028

08B 18 00032

00028€88 8F DD 00034

63 01 FB 0003A

10 11 00030

50 03 A2 9E 0003¢

50 04 (7 00043

FBF9 CF 01 F8 00047

18 50 €8 0004C

5¢ DD 0004¢F

01 DD 00051

00028e80 8fF DD 00053

63 03 ¢8 00059

08 B8C 50 00 0005¢C

50 04 0O 00060

04 00063

50 01 00 00064

Routine Base:

o
o
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o
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04
DBGSCODE + 063E

1
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(7ale )
xf_‘
L.JU'
[
[aa N |
-\

00050 P.AAE:
000SF

1%:

2 ¥

1s:

4%

.PSECT
ASCI]
LASCII

PSECT

.ENTRY
MOVAB
MOVL
MOVL
BNEQ
PUSHAB
PUSHL
PUSHL
CALLS
MOvL
CMPL
BGEQ
PUSHL
CALLS
BRB
MOVAB
DIVLS
CALLS
BLBS
PUSHL
PUSHL
PUSHL
CALLS
MOVL
MOVL
RET
MOVL
RET

DBGSPLIT,NOWRT, SHR,

<31>\GE TMEMORY\<92>\DBGSNEXECUTE _ALLOC\

\ATEN

DBGSCODE ,NOWRT, SHR,

DBGSNEXECUTE ALLOCATE
DBGSNMAKE AR _VECT, RS
VERB NODE >

8(R07 NOUN _NODE

P AAE

11

8164706

#3, LIBSSIGNAL
(NOUN_NODE), NUM _BYTES
ggn BYTES, #1000"

#167560
1", oecsnnAxs_ARG_vecr

$
3(R2)
#., RO, -(sp)
#1. DBGSEXPAND_MEMORY
RO, 4$
NUM_BYTES

1
#167552
#3, DBGSNMAKE ARG_VECT
20 ggESSAGE Vect™

#1, RO

2 V&4 .,0=742
MEMORY.B3/; 1

Save RZ.R3
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PARSE _STG PIR,
STG: REF VECTOR (,BYTE],

VERB_NODE: REF DBGSVERB_NODE;

; Allocate space for a verb node.

Stuff a carriage return at the end

1
1

s s mms ame w e Em s

14
-Sep=-1984 0 :47:85 AX=11 Bliﬁs-SZ
-Sep=-1984 12:18:01 DEBUG.SRCIGETM

This routine provides an interface from the old debugger to the

- A string descriptor for the remaining input

A command execution network is constructed, and a pointer to

! Holds a character
Address of message vector returned
from DBGSNPARSE ALLOCATE
Length of command (Tne
Pointer into command line
Pointer into a new copy of the
. command line
Pointer to a verb node.

VERB_NODE = DBGSGET_TEMPMEM(DBGSK_VERB_NODE_S1Z€);

parser expects to see. Also, translate the line to

GE TMEMORY
v04-000

}83 } GLOBAL ROUTINE DBGSPARSE_ALLOCATE (PARSE_STG_DESC) =

1094 1 i FUNCTION

1095 1 '

1089 } ; new debugger parse network for ALLOCATE.
1  INPUTS
% ] PARSE _STG_DESC
% g OUTPUTS
% g the verb node is returned.
% " BEGIN
2 MAP
g PARSE _STG_DESC: REF DBGSSTG_DESC;
3 LOCAL
3 CHAR: BYTE,
g DUMMY_MESS VECT: REF VECTOR,
3 LEN,
3
3
3
3
4
¢
s
4
4
4
4
4
4
4

stg

?arse

NCR T
BE

*FAoR'0 70" ten-1
GIN

"
~
<o
~
L]
-y
e
"

stgl.i] = .char;

END;
stgl.len) = dbgSk_car_return;
parse_stg_descldsc$a_pointer
parse_stg_desc(dscSw_length]) =

— i e el D e i s i e i i i ) e e i i e ra el el D el el el o) ) e e el e D e e D el ) D D e ) e e il o D sl o i e e e e o el

OO O OO O O O O O VA VAWAAVAVAVAVAVLA
[ N N T Yy e e v e ST NN NN NN NN ST NN LNT N NT ST NN NT NN NS NN NN VRS SRR IR P S Y D P Puer pa Y

P e S T e Y TR PR PR Y PR P Y PEYEFE IR IE TR PR PR PRIE LA PR IESE NN TR PR TR PR TN PR TR PR PR TN T PR PR PR FE PR FI TN T I WA WY TR TN Yaram
— il ol el el D ol D el D i o e ) el il ) = el i vl ) il = ) i el D sl Sl il il B el il ld i D il sl D il il ) ) D B P B d
D D il i el il o o i il ) el ) D il i il D D el el el D ol el e i el il il il i i o it e ol D D i e b e OO
O ~NO N8 i) = O OO0 YOS iR = O O 00 N NS Wi = O O 0 NO WA S LN = O O 00 N0 8~ W = O D 00 O\ SN

B 88BN N NN AANTI PO PN N NIPINININ) b b bt b e b et b 4 O O O OO COOOOOO
00 O W IS i) =2 O O 00 ~ O WA 8 ) = O O 00 N W AN = O O 00 O VNV B N = O O 00 O N B (N = O O 00

len = parse stg_desc[dscSw_length];
= dbg$get_tempmem (1¢(1¥ Len)/XUPVAL); _
Sptr(.Barse_stg_desc[dsc‘a_ponnter]);

char = chSrchar_a(parse_stg_ptr);
1F .char GEQ XCYa' AND Tchar LEQ X('2'

.char = (XC'a'-XC'A*")

= .s1Q;
.porse_stg_desc[dscSw_Length] + 1;

[]
s of the input Line since this is what the new style
i

: upper case (the new debugger does this; the old does not)

; Now call the parser on the remainder of the input line

Vée.0-74
EMORY.B3Z;1

Paj=

N
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GE TMEMORY 16-Sep=-1984 02:47:25 AX=11 Bliss=32 v&.0=74 Page 38
v04-000 14-Sep-1936 15-18:81 DEBUG.SRCIGETMEMORY .B3Z; ! 9 (13
; 1149 1%70 1Ff NOT DBGSNPARSE ALLOCATE (.PARSE_STG_DESC,
: }}g? }%;é TH_N.VERB_NODE. DOMMY _MESS_VECT)
: L
. 115 1278 2
: 115% 12764 2 t 1t the above routine does not return success, then we signal
: }}gg }%;2 % ; an error using the error message vector that we got back.
P 1156 1277 BEGIN
: 1157 1%78 g EXTERNAL ROUTINE
: 1158 1279 LIBSSIGNAL : ADDRESSING_MODE (GENERAL):
: 1159 1280 3 BUILTIN
: 1160 1%8] g CALLG;
: }}2% }zgg 3 gatLG (.DUMMY _MESS_VECT, LIBSSIGNAL);
P16 1284 2 ' .
: 1164 1285 2 ! Restore pointer field of PARSE STG DESC since this can be wiped out
: }}22 }gg? g ; during n:u style parsing. - T i niped ou
: 1167 1288 ¢ 1f .parse_stg_descldsc$a pointer] EQL O
R R e sectasctnsotnen
: arse st escldsc$a point s ,stg+.len;
R I L it rewrn o potorer 1o the werh noa,
: Y Tina . return 3 pointer to th de.
t 1172 1598 ¢ Y P € verd node
: 1173 1296 2 RETURN .VERB_NODE;
21174 1295 2
s 1175 1296 1 END.; ! dbgSparse_allocate

LEXTRN LIBSSIGNAL

007¢ 00000 .ENTRY DBGSPARSE _ALLOCATE, Save R2,R3,R4,RS5,R6 ;1213
SE 04 €2 00002 SUBL2 ¥4, SP :
03 00D 00005 PUSHL  #3 P 12463
FE19  CF 01 FfB8 00007 CALLS  #1, DBGSGET TEMPMEM :
56 50 D0 0000¢ MOvVL RO, VERB NODE :
54 04 AC DO 0000f MOVL PARSE_STG_DESC, R4 ;1251
52 64 3C 00013 MOVIWL (R&), LEN ;
50 01 A2 9€ 00016 MOVAB  1(R2), RO 21252
50 06 (6 0001A oivte w4, R ;
01 A0 9F 00010 PUSHAB 1(R0) ;
FEOD CF 01 ¢8 00020 CALLS  #1, DBGSGET_TEMPMEM :
$3 50 DO 00035 MOVL RO, STG :
55 04 A& DO 09078 MOVL & (R4), PARSE_STG_PIR ;1253
50 01 (€ 0002¢C MNEGL #1, | . 1259
1A 11 oooir BRB 33 :
51 85 90 00031 1%: MOVB (PARSE _STG_PTR)+, (MAR T 1256
61 8f $1 91 00034 CMPB CHAR, 797 P 1257
0D 1f ooo;a BLSSU 2% :
7A  Bf 51 91 0003A (MPB (HAR, #122 :
07 1A 0003¢ BGTR 2% :
6043 51 20 83 00040 SUBB #32, (HAR, (1)[STG) . 1299
06 11 800«5 8RB 33 ;
6043 $1 90 00047 is: MOVB CHAR, (1D[ST16) ;1261
£ 50 52 2 0004B 3%: AOBLSS LEN, I, 1 . 1254
6243 00 90 0004f MOVB #13, (LEN)[516) ;1263
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DEBUG.SRCJGE TMEMORY .B3Z;
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Routine Base: DOBGSCODE ¢ 06A6

127 bytes,

; Routine Size:




¢ 15
ORY 16-%ep-1984
14-Sep-1984

GLOBAL ROUTINE DBGSPOP_TEMPMEM(POOLID): NOVALUE =

FUNCTION
This routine pops the pointers to the temporary memory blocks off
the Temporary Memory Pool Stacks. Releases the temporary memory
blocks for each pointer.

INPUTS
POOLID - Stack [D to the Yemporarg Memory Pool Stacks, i.e., pops
from the current stack 1D to POOLID.

<o
om

e el ol ) D i ) il D il el il ) il ol il e ) e D e A el il D D ol el e i el D D e D i el ) i ) il el D D el el ) i D il il S il D il ) b —4
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05:47:85 VAX=11 Bliss=32 v&.0-74 Page 40
12:18:01 (DEBUG.SRCIGE TMEMORY.B3Z; 1 (14)

o

OUTPUTS
None.

PR R R R R TR TR R N R T

BEGIN

OCAL
BLKPTR: REF VECTORL,LONG],
NEXTBLK;

Pointer to the current temporary
block to release

Pointer to the next block on the
chain

5 Make sure when we do the pop operation won't cause stack underflow.

;:Eé.POOLID LSS 1) OR (.PQOOLID GTR .DBGSTEMPMEM_POOLID)
$DBG_ERROR{( *GE TMEMORY\DBGSPOP_TEMPMEM stack undertflow');

COO00O00OO0OOWVOVVVOVOV OO ODBOOCOWOOOOOOD NN~ OM

OV NN 2 OO0 NS NN =2 O OO VRV W 2O OB ~NO NS Wi 20OV~ O3

! Pop from the current level to the given level, For each pop operation,
; release the temporary memory blocks pointed by DBGSTEMP_MEMORY,

BLKPTR = .DBGSTEMP_MEMORY;

DECRB%GEZON .DBGSTEMPMEM_POOLID TO .POOLID DO

(PR N R I YA FE TN PR PR FE NN PN PR PR FE PR FE TR FR PR TR FE YN P VPR YN PR TN PR R T N T Y

e s 8. 8,

: WHILE .BLKPTR NEQ O DO
: BEGIN
NEXTBLK = .BLKPTR{0J;
DBGSREL _MEMORY ( .BLKPTR);
BLKPTR = .NEXTBLK;
END;
?hEPTR = .DBGSTEMPMEM_POOLSTKL.1 - 1);

! Adjust the current Temporary Memory Pool Stack pointer and the current
; Pointer to the Temporary Memory blocks.

DBGSTEMP MEMORY = .DBGSTEMPMEM_POOLSTK(.POOLID - 1);

g??agsﬂslfﬂ_POOLlD = ,POOLID =71,

END;
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D 15
14=-Sep-1

02:47:25 AX=11 Bliss=32 v&.0-74 P 61
v04=000 TRINE ; age

S
DEBUG.SRCIGE TMEMORY.B3Z; 1 (14)

PSECT DBGSPLIT ,NOWRT, SHR, PIC,0

24 &7 &2 &6 5C 59 52 4F LD 45 4D 54 45 47 29 00070 P.AAF: _ASCII \)GETMEMORY\<92>\DBGSPOP_TEMPMEM stack u\ ;
61 764 73 20 4D 4S5 4D SO &D 4S5 54 SF SO 4F SO 0007F ;
75 20 68 63 0008t :
77 6F 6L 66 T2 65 64 6E 00092 LASCII \nderflow\ :
PSECT DBGSCODE.NOWRT, SHR, PIC.O
003C 00000 .ENTRY DBGSPOP TEMPMEM, Save R2.R3.R4.RS : 1297
55 00000000* EFfF 9E 00002 MOVAB DBGSTEMPMEM_POOLID, RS :
04 AC DS 00009 TSTL POOLID : 1324
06 15 0000C BLEQ 1% :
65 04 AC D1 0000€ CMPL POOLID, DBGSTEMPMEM_POOLID :
15 15 00012 8LEQ 2% :
00000000' EF 9F 00014 1%: PUSHAB P_AAF : 1326
01 0D 0001A PUSHL M1 :
00028362 8F DD 0001(C PUSHL 8164706 :
000000006 00 03 FfB 00022 CALLS #3, LIBSSIGNAL ;
53 FC AS DO 00029 2%: MOVL DBGSTEMP MEMORY, BLKPIR : 1332
52 65 DO 000%0 MOVL DBGSTEMPAEM_POOLID, I ; 1333
19 11 00030 BRB 5% :
53 DS 00032 3%: TSTL BLKPTR ;1338
OF 13 00034 BEQL 4% :
54 63 00 00036 MovL (BLKPTR), NEXTBLK : 1337
53 b0 00039 PUSHL  BLKPITR : 1338
0000v (f 01 fB 00038 CALLS #1, DBGSREL MEMORY :
53 54 DO 00040 MOVL NEXTBLK, BLRPIR . 1339
ED 11 00043 BRB 38 ;1335
53 6542 00 00045 4$: MOVL DBGSTEMPMEM_POOLSTK=4(1], BLKPIR ;1342
52 07 00049 DECL ] ; 1333
04 AC 52 D1 00048 S%: CMPL £ POOLID ;
E1 18 0004F BGEQ $ :
50 04 AC DO 00051 MOvVL POOLID, RO : 1349
FC AS 6540 DO 00055 MOVL DBGSTEMPMEM POOLSTK=4[RO), DBGSTEMP_MEMORY
65 FF A0 9E 0005A MOVAB  =1(R0), DBGSTEMPMEM_POOLID ;1350
04 0005SE RET : 1353

: Routine Size: 95 bytes, Routine Base: OBGSZODE ¢ 0725




GE TMEMORY
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5-509-1984 05:47:85 AX=11 B81L1
L=Sep=1984 12:18:01 DEBUG. SR

9L08AL ROUTINE OBGSPUSH_TEMPMEM =

a
i
i
i
i
;
;
;
;
i
;

NAVA

on

FUNCT]

INPUTS

OQUTPUT

BEGI

ON

This routine pushes the current pointer to temporary memory blocks
on the Temporary Memory Pool Stack, Reset the current pointer to 0,
SO the new temporary memory blocks can be init:ated.

None.
S

The current Stack ID is returned.

N

; Increment the Temporary Memory Pool Stack pointer,
DBGSTEMPMEM_POOLID = .DBGSTEMPMEM_POOLID + 1;

! Make sure the stack won't overflow by above operation.

iF .
THEN

! Sa

! initiate a new temporary memory

DBGSTEMPMEM_POOLID GTR 25
$0BG_ERROR('GE TMEMORY\DBGSPUSH_TEMPMEM stack overflow');

ve the current temporary menorglbleck pointer on the stack, and
ock pointer.

t
DBGSTEMPMEM POOLSTK( .DBGSTEMPMEM_POOLID = 1) = .DBGSTEMP_MEMORY;
DBGSTEMP_MEMORY = 0;

RETURN .DBGSTEMPMEM_POOLID;

END.

4F
40

77

PSECT DBGSPLIT,NOWRT, SHR,

D 45 4D 54 4S5 47 29 O0009A P.AAG: .ASCII \)GEYHEHORV\<92>\DBGSPUSH_IEHPHEH stack \
45 S& SF 48 S3 55 50 000A9
;o 68 63 61 00088
6F 6C 66 e 65 76 6F 0008C ASC]1 \overflow\
LPSECT DBGSCODE,NOWRT, SHR,
004 00000 .ENTRY DBGSPUSH TEMPMEM, Save
s2 00000000* €EF 9¢ 00002 MOVAB  DBGSTEMPMEM_POCLID, R2
62 06 00009 INCL  DBGSTEMPMEM”POOL ID
19 6 D1 80008 CMPL DBGSYEHPHEH_POOLID. 825
15 15 0000E BLEG 1§
00000000° 5' 9F 00010 PUSHAB P.AAG
1 00 00016 PUSHL "

ss=-32 v4.0-74
CJGETMEMORY .B3Z; 1

PIC,O

Plc lo
R

Page &/

(15

1354

1373
1378

1380




GBTH MORY
v04-000

; Routine Size:

52 bytes,

00028362

000000006
62460
50

Routine Base:

8F
3
6
FC A
FC A

6

0BGSCODE + 0784

PUSHL
CALLS
MOvVL
MOvL
CLRL
MOVL
RET

9-1984 ? :‘7:85 AX«11 BlijS°32 V4.0-74
p-1984 :18:01 DEBUG.SRCJGE TMEMORY .B32;1

9164706

#3, LIBSSIGNAL

DBGSTEMPMEM POOLID, RO

DBGSTEMP_MEMORY, DBGSTEMPMEM_POOL STK=4[RO]
DBGSTEMP MEMORY

DBGSTEMPMEM_POOLID, RO

Page 43
9 (15)

* 1386

. 1387
; 1388
; 1389

™ ol Y



18
GE 1oy 1d-tep-10m0 3.4

127

;S? AX=11 BLi

1 $=-32 v4.0-74 Page &4
DEBUG.SR ™

7 s
8 CIGETMEMORY.B3Z; 1 (16)
QLOBAL ROUTINE DBGSREL _MEMORY (ADDRESS): NOVALUE =

FUNCTION

This routine releases the nenorr block at & specified address to the
free memory pool. The menor¥ block is coalesced with the previous and
the following memory blocks if these are free and is added to the free-

TR TR IR T

WD = OO 0B O N I iy

BACKPTR: REF FMEMSBLOCK,
BLKPTR: REF FMEMSBLOCK,
FORWPTR: REF FMEMSBLOCK,
NEXTBLK: REF FMEMSBLOCK,

Pointer to previous free-Llist block

Pointer to the released memory block

Pointer to the next free-list block

Pointer to the next sequential memory
btock in the memory pool

7 !

7 !

7 '

14 !

7 !

7 ! list.

14 !

8 ' INPUTS

8 ' ADDRESS - The address of the memory block to be released. This must be
8 ' the same address as originally returned by DBGSGET_MEMORY when
g ; the block was allocated.

8 ' QUTPUTS . . ,

g : The specified memory block is released. No value is returned.

8

8 BEGIN

9

9 MAP

9 ADDRESS: REF FMEMSBLOCK: ! Pointer to the allocated part of the
g ! block to be released

9 LOCAL

9

9

9

9

0

OV i) =2 OO OV i) = OO0 ~NO N~

LI R A L L I RO L N AL XA I T TR T IO WO TR IR TN O T I R IR IR WA IR IR TR YR PO AP TN R I

BEG:N

PREVBLK = .BLKPTR = &+, BLKPTRLFMEMSL PREVLEN];

%LE&PREVBLK FMEMSB_SENTINEL) NEQ FMEASK_SENTIN
SIGNAL (DBGS_INTMEMERR, 1, .BLKPTIR);

PREVBLK[FMEMSYV_LENGTH]) =

EL

— s ol oot it il il il i ekl e il D el i il ) o vl D il el S el il el el il ) il ) el i B i i D i ) ) D i i el el sl s el ol i o i i D i

A L U A L A A L A A A L U Al Ll Ll L L U A AN s AN AN N ) N ) NI AV ) NI N AU N PO AU A PO AR N NI N NN AN PRI

s e s i et e e e el s e il e e D ol i e e e S s D P il e e e e e e i e b e e e D e D e i e e D e s D e D e s o e el i
oW oW oW 2 2 ol a2l 2R 2R 2R ol Rl oW W W O A A A W o 22k o ¥ oW W W W W W W A X ¥ aF ol oF 1V [V PP gege e g
B8 B B8 8 B MmN NN NN AN N NN TOPONONONININININY 4 2 s 2 2 B B d 2 OO OO OOOOOOOO VOOV LVLOVOOVOOY

O N PN = OO NN W = OOV NO WV AIN =2 OO0 ~NO NN 2 OO NO VLI = OO0 N NS Lin) — O

(VeI e PVIPY GG ST NI L L N N1 S VIV S NI S] S NS N1 S ST ST VI VI VL VI NI VI VI NI VI N1 1 N REr P PO P IO PO DRV PV JU PO DU I P e g e

0 PREVBLK: REF FMEMSBLOCK; Pointer to the previous sequential
8 memory block in the memory pool
0
0 ! Pick up the address of the memory block header. Then do some integrity
8; t Checks to make sure this is a valid allocated memory block.
09 BLKPTR = ADDRESS[FMEMSA_HEADER);
10 1f (.BLKPTRCFMEMSB_SENTINEL] NEQ FMEMSK_SENTINEL) OR
}5 . E&NOI .BLKPTR{FMEMSY_THISALLOC))
H
}2 SIGNAL (DBGS_INTMEMERR, 1, ,BLKPTR);
: 15
;1316 ! See it we can combine the released block with the ?reviqus sequential
. 131077 : block in the memory pool. If we can, we make BLKPIR point to that prev-
}g ; ious block and increase its length accordingly.
20 IF NOT .BLKPTRCFMEMSV_PREVALLOC)
21 THEN
22
23
24
25
26
27
28

s B, R, B, 0, 0,0 0, 0.



GE TMEMORY
v04-000
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H 15
16=-5¢p=1984 ? :47:85 AX=11 Bligs-SZ vé.0-74
164-5ep=1984 12:18: 01 DEBUG.SRCIGETMEMORY .B3Z; !

PREVBLK(FMEMSY_LENGTH] + .BLKPTR{FMEMSY_LENGTH];
ngPTR = ,PREVBLK;

! 1If the previous block was not free, mark the released block itself as
t unallocated and link it into the free-list.

ELSE
BEGIN
BLKPTRCFMEMS$YV_THISALLOC) = FALSE;
FORWPTR = .DBGSFREE_LISTCFMEMSL_FLINKD;
BACKPTR = .DBGSFREE_LIST;
BLKPTREFHEHSL_FLINKJ = .fORWPTR;
BLKPTRCFMEMSL “BLINK] = .BACKPIR:
FORUPTREFHEHS[_BLINKJ = .BLKPIR;
BACKPTRCFMEMSL_FLINK] = .BLKPIR:

END;

! Now see if the next sequential block in the memory pool is free. [t it
i is, we unlink it trom the free-list and coalesce it with the BLKPTR block.

NEXTBLK = .BLKPTR ¢ &+ BLKPTRCFMEMSYV LENGTH];
%LEﬁNEXYBLK[FHEHSB_SENTINEL] NEQ FMEMSK _SENTINEL
SIGNAL (DBGS_INTMEMERR, 1, .BLKPTR);

IF NOT .NEXTBLK{FMEMSV_THISALLOC]
THEN
BEGIN
FORWPTR = .NEXTBLKCFMEMSL _FLINK]:
BACKPTR = .NEXTBLKCFMEMSL BLINK];
FORUPTREF EMSL_BLINK) = .BACKPTR;
BACKPTRLFMEMSL FLINK) = .FORWPTR;
BLKPTRLFMEMSY [ENGTH)
END .BLKPTRLFMEMSV_LENGTH] + _NEXTBLK[FMEMSV_LENGTH];

! We have now done all coalescin? we can do. Set the length of the block at
; the end of the block and mark 1t there as being unallocated. Then return,

NEXTBLK = .BLKPTR ¢ &+ .BLKPTRLFMEMSY _LENGTH];
NEXTBLKEFHEHSL_PREVLENJ = ,BLKPTRLFMENSY_LENGTHI;
=E¥6ghx FMEMSV_PREVALLOC] = FALSE;

END;

007C 00000 .ENTRY DBGSREL MEMORY, Save R2.R3,R&.RS,R6
56 000000006 00 9§ 00002 MOVAB LIBSSIGRAL, Ré
AC 04 (3 00009 SUBL 84, ADDRESS. BLKPIR

Page
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GE TMEMORYY
v04-000

51
62

50

VO~ AW
Ow —=O

; Routine Size:

00

36

52

62
63

16

63

O OO
wo o

209 bytes,

B2 8F 03 A3 91 000
04 18 000

63 13 EO 000

53 0D 000

01 00 000

00028AF4  8F DD 000

62 03 fB 000

é 17 EO0 000

50 FC A3 00 000

50 04 (4 000

53 50 (3 000

B2 &F 03 A2 9 800
0D 13 000

53 00 000

01 00 000

00028AF4  8F DD 000

66 03 ¢8B 000

16 00 EF 000

16 00 EF 000

50 31 €0 000

00 50 Ff0 000

53 52 00 000

1F 11 000

02 A3 40 8F 8A 000
50 00000000* EF DO 000

54 04 A0 DO 000

55 50 00 000

04 A3 56 70 000
08 A4 53 00 000
04 A5 53 DO 000
16 00 EF 000

52 6340 DE 000

B2 8F 03 A2 91 000
00 13 000

53 DD 000

01 0D 000

00028AF&¢  BF DD 000

66 03 B 000

62 16 €0 000

56 06 A2 70 000

08 A4 55 00 000
04 AS 56 D0 000
16 00 EF 000

16 00 EF Q00

50 51 €0 000

00 50 F£0 000

16 00 EF 000

52 6340 DS 000

FC A2 50 00 000
02 A2 80 8F 8A Q00
04 000

Routine Base:

0BGSCODE + 0788

OO0 NN LS £ 5 B U AR A INORONIN) —b —b b b 2 O

~N~~
~NHANOONOM O O NM OO OMO N2 3 O8O B O

— —anl
O
'

(P IV R

~
-
(W, ]
[ ]

84

9C 6%:

7%:

—
*

(o]
[ 4

(V]
«

»
"

o BN

iss
DEBUG. SRC]GE

BLKPTR), #178

#22, (BLKPTR), 2%

:85 !Al-11 Bliss=32 vé.0-7¢4
: 01 1

3

1

8166644

23, 1 1B$SIGNAL

228 SUKPTR). 4§
-4 (BLxPTR), RO

#6, RO

RO, BLKPTR, PREVBLK
g;PREVBLK), 78

BLKPTR

A

8166644

#3, LIBSSIGNAL

80, #22. (PREVBLK), RO
80, #22, (BLKPTR), R
R1, RO

RO, #0, #22, (PREVBLK)
ggEVBLK. BLKPTR

264, 2(BLKPTR)
DBGSFREE LIST, RO
4L(RO), FORWPTR

RO, BACKPTR

FORWPTR, 4(BLKPTR)
BLKPTR, 8(FORWPIR)
BLKPTR. &(BACKPTR)
80, #22, (asxptn) RO
(BLKPTRICRO], NExfBLK
g;NEXTBLK). 278

BLKPTR

i

166644

#3, LIBSSIGNAL

#25, (NEXTBLK), 7%
4(NEXTBLK), FORWPTR
BACKPTR, B(FORWPTR)
FORWPTR. &(BACKPTR)

20, # %, (BLKPTR), RO
:9. ; . (NEXTBLK), R1

RO, #0, #22, (BLKPTR)
#0. #2} (ssxpra) RO
(BLKPTRICRO), NExiBLK
RO, -4 (NEXTBLK)

#1388, 2(NEXTBLK)

MEMORY .B3Z; 1

Page &6

4028209900000 8050080808000 0r00BeBeVeVIVEVIVIVEVI BB VsV VP Vs OrVaWe Vs Wy Be Vs We Ve BaBs Vs Vs Ve Ve B WaBy®aWe B

(16)
1428

1429
1431

—
! o

1442
1644

1647

-t el o ol and =l wsl
rerr srrr
b o S Y IV VY
WO O vt

-l
b
o

%70
14N
1473

- e e b
ok o o o
aBOOOR ~~
VL del. V]

1490

1491
169%
149




715
GE TMEMORY 16-Sep=1984 02:4
v04=000 12-Sep §:4

; 1379

:55 AX=11 Bliss-SZ V‘.O-?LS Page 47
1 DEBUG.SRCIGE TMEMORY . B3 ! (17)

QLOBAL ROUTINE DBGSREL_TEMPMEM: NOVALUE =

FUNCTION

This routine releases all '‘temporary’’ memory blocks allocated by routine
DBGSGET_TEMPMEM. This routine is normally called atter the completion
of each command==it thys cleans up any storage used in processing the
commard without requiring an explicit release call for each such block.

NONE

)

'

i

]

i

|

E INPUTS
]

i OUTPUTS ‘

' ALL “‘temporary’’ blocks on the DBGSTEMP_MEMORY List are released to the
! memory pool. No value is returned.

BEGIN

LOCAL
BLKPTR: REF VECTOR(C.LONG], ' Pointer to the current temporary block
! to release

Al AN L A L AN U M LN N N N AN R

jolelelelelolalelal Vels lellelVe IVelVolVe fWelo 1o To Lo To Yo To o To To ]

NEXTBLK; | Pointer to the next block on the crain

; It this is a Testable Debugger, check the condition of the memory pool.
If .DBGSGV_CONTROL[DBGSV_CONTROL_TDBG] THEN OBGSCHECK_MEMORY();

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

2

2

2

2

2

2

2

2

2

2

2

2

%

P4 ! Clear the RST Reference List to contain zero entries. This says that the
2 : current Debug command has ended, and the RST entries it referenced are no
g ; longer being referenced by SYMIDs elsewhere in the Debugger.
e
2
2
2
2
2
§
4
4
4
§
i

RSTSREF _LIST(1) = 0;

. Loop through the singly Linked List pointed to by DBGSTEMP_MEMORY and
: release each block on the List to the free memory pool.

BLKPTR = ,DBGSTEMP_MEMORY;
WHILE TRUE DO
BEGIN
WHILE .BLKPTR NEQG O DO
BEGIN
NEXTBLK = .BLKPTR[O]:
DBGSREL _MEMORY ( .BLKPTR);
ghspra 2 .NEXTBLK;

IF ,DBGSTEMPMEM_POOLID EQL O THEN EXITLOOP;

DBGSTEMP_MEMORY = .DBGSTEMPMEM_POOLSTK[ .DBGSTEMPMEM_POOLID - 1];
BLKPTR =~.DBGSTEMP_MEMORY :

gsgsrenpnen_POOLlo = .DBGETEMPMEN_POOLID - 1;

DBGSTEMP_MEMORY

VSN =2 O OB YO NS N = OV YOS W - s OO0 YO VS WA =2 OO N WS WN = OO ~NO NS il = O

anl eul el el ) ) D el ) ) D D il il il el il il il -l -l =l el ) ) S ) =l il il il D el il el sl el il il e el D il D e D el il D il il il 2D el
VA A A A A AA WA LA VAR UVAAA VA UAA VARV VAV LA AA VA VLA LAA U A AAVAUAAUAA VWA VAWV B B 8 0~
VAN LS B B BB 8 BB B AN A NN AR NN NN N PP NIPININ) = b b b b bk e d S O OO OO OOOOOY OO0
AU =2 OO NO W EWWIN = O VOO ~NO VS NEIN = O QOO NO V8 W) = OO 00 NO VNS NN = OO N WS LI = OO0 ~NO

F o W W Y ol alal ¥ ol o F W o W o R R ol B oW B ol o F W P ol ok ol

W NN AN PO PROAOPI PO PINIAIN) = b e =l e b et b s s O
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— ) el il ol il el e ol ) e e i i el el il el el ol el ) B ) i i D el i il i D i il ol D il el Sl D el il Y ) il ) i il s o ol el ) D D
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GE TMEMQRY
v04=000

Routine Size:

1439
1440

Name
DBGSOWN

DBGSCODE
DBGSPLIT

File

1
1

553 5 RETURN;
554
556 1 END;
001C 00000
5¢ 00000000 SF Gt 00002
05 000000006 Q0 E9 00009
F762 CF 00 FB 00010
50 000000006 00 DO 00015 1$%:
06 AQ D& 0001C
52 66 00 0001f
52 D5 00022 2%:
OF 13 00024
53 62 00 00026
52 0D 00029
FEFF CF 01 fB 00028
52 53 00 00030
ED 11 00033
50 06 A& DO 00035 3s%:
0D 13 00039
64 06 A44Q0 DO 00038
52 64 DO 00040
06 A4 D7 00043
DA 11 00046
646 04 00048 4%
04 0004A
75 bytes, Routine Base: DBGSCODE + 0889
556 1
557 0 END ELUDOM
PSECT SUMMARY
Bytes Attributes
116 NOVEC, WRT, RD ,NOEXE,NOSHR,
2260 NOVEC,NOWRT, RD , EXE, SHR,
196 NOVEC,NOWRT, RD , EXE, SHR,
Library Statistics
cocces == Symbols ==-=c---
Total Loaded Percent

AX=11 BLi

.ENTRY DBGSREL _TEMPMEM, Save RZ2,R3, R4
MOVAB  DBGSTEMP_MEMORY, R4

18S
DEBUG. SRCJGE

BLB( 08GSGV_CONTROL, 18
CALLS  #0, DBOSCHECK_MEMORY
MOVL  RSPSREF_LIST, RO

CLRL & (RO)

MOVL  DBGSTEMP_MEMORY, BLKPTR

TSTL BLKPTR
BEQAL 3

$
MOVL (BLKPTR), NEXTBLK

PUSHL  BLKPTR

CALLS  #1, DBGSREL_MEMORY

MovL NEXTBLK, BLRPTR
8RB 2$

MOVL  DBGSTEMPMEM_POOLID, RO

BEQL

MOVL DBGSTEMPMEM POOLSTK-4(RO], DBGSTEMP_MEMORY
MOVL DBGSTEMP _MEMORY, BLKPTR

DECL DBGSTEMPMEM_POOL ID

BRB 2%
5E¥L DBGSTEMP_MEMORY

EXTRN LIBS$SIGNAL

LCL, REL, C(ON, PIC,A
LCL, REL, C(ON, PIC,A
LCL, REL, (ON, PIC,A
Pages Processing

Mapped Time

~—r-r

e
(212
EEX

o~~~

(=] [ V)
-

«32 v4.0-74
TMEMORY.B3Z; 1

Page
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GE TMEMOR Y 1k-sep-1qsu og:ar:ss AX=11 Bliss=32 V&.0-742 Page 49
v04=000 14-Sep-1984 12:18:01 DEBUG. SRCIGE TMEMORY.B32; 1 (17)
; _szsssounga SYSLIBILIB.L32:1 18619 9 0 1000 00:01.9
: T$2558DUAS8: [DEBUG.0BJ)S TRULDEF 532;1 32 0 0 7 00:00.2
: $255$DUA%8: DEBUG.0BJ)DBGLIB.L3S: T 1545 45 2 97 00:01.9
: T82558DUAZ8: (DEBUG.OBJIDSTRECRDS.L32;1
; 418 0 0 31 00:00.3
;  _$255%DUA28: [DEBUG.0BJIDBGMSG.L32; 1 186 7 1 22 00:00.3
H COMMAND QUALIFIERS
; BLISS/CHECK=(FIELD,INITIAL,OPTIMIZE)/LIS=LISS:GETMEMORY/OBJ=0BJS: GETMEMORY MSRCS:GETMEMORY/UPDATE =(ENHS: GE TWEMORY)
: Size: 2260 code ¢ 312 data bytes

Run Time: 00:62.2

Elapsed Time: 00:46.6

Lines/(PU Min: 214

Lexemes/C(PU-Min: 15433
Henor{ Used: 200 pages
C(ompilation (omplete
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